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= tion growt h?
1 Which of the following schemes are implemented in India to reduce popula Br

A. Accredited Social Health Activist (ASHA) scheme
B. Scheme for provision of Pregnancy Testig Kits
C. Mission Parivar Vikas &)

D. Clinical Outreach Teams (COT) scheme ":I
Choose the correct answer :

B and D only 3 (2 AB,CandD
(3) A and C only { @) A CandDonly :
TOETH0S Brer BSOS SNowsmat $ha HEsos 59 when Tohargaw i

A. 10805 &rotsd il ey o x;qsggmsm Hgo)
B. #%5) 508 850 Dovyen H%0

C. A J85 dshH
D. 8085 TS 85y (com Spgo

s ) RNSTPCIER) Ot R0 -
(1) B 0080 D Sressh (2) A B, CHBALD
(3) A Ocin C Smessh QY () A, ChBdsn D s
™
2. Arrange the following states in descendingengder based on their population in 20711 (as per Census
2011) @)
A. Bihar B. Tamil N C. Maharashtra
D. Uttar Pradesh E, Ka:natakar-“}
Choose the correct answer : ™M
(1) D,B,C,AE och M,C,A.B,E
(3) A,B,D,C,E 4) E,C, DB, A
2“; 625‘ ;;mp TP 2aEr (2011 BT TN 1Hsdo) wrdor 8o OIS w38 Fdoes
©@08 350 ;
A HE B. &n¥areh C. Do
D. &és 55T E. sgra
EVSININS T ) 2 JOTHE K08 -
(1) D,B,C, A E 32 (@) D,C A B E
(3) A,B, D, C.E

@) 4 E,C,D,B, A

The rate of natural population growth in Iﬁﬂin had been
despite an increase in absolute

number of population, owing t, - nIng since the early 1980s,
(1) The falling of birth rate w X
(2) The inerease of birth rate

and death ratph
(3) The falling of birth

rate was faster than
(4) The increase of birth rate was faster thaff i

BT 0T DHsses @) 5)e38, 19806, 020 08 rosiods
(Soon ebipessr IY06. WOE e S5m0 eS0T -

DOee Bew 508 Findmr 2die Bew etiso, '
(2) e B, bsre ey MY 2.8 DGO &otdo,
(3) odere Bt 50 Snomr asirer Bew S0,
(4) hHdere Bew L0t Jior a3 Boy Elelyle TSy,

a8 almost same. )<
th rate.
eath rate,

VB 232 Dorhcse déxn

’E (2)

www.sakshieducation.com



www.sakshieducation.com

What is the term used in national income accounting when depreciation charges are deducted from a
country’s Gross Domestic Product ?

d‘ﬁ;ﬁlet Domestic Product (2) National Income at constant prices
(3) Net National Product (4) Real Net Domestic Product

Hio g, e SITrs 36" Hod ShiHood AeEchr ADS oAd eradirorad eodlothd’
DA Hewty ?

(1) DES DHah ared)S @) 8 (dexsch) Sderd’ zradh eorcho

(3) DES 2D Gred)B @) TRHDE DES BIcH )

Which of the following statements is/are true in relation to the concepts of personal and disposable

incomes ? = -

A. The consumption expenditure + savingb of an individual is equal to disposable income of an
individual. ./ =)

B. If the personal taxes are added to dispnﬂéi:le income of an individual, we get personal income.

Choose the correct answer : 2 ?
(1) Bonly (2) Neither AnorB (3) Aonly (47 Both Aand B
%585e5 SHBakD $5050G BTl Arade Honodod (Bod Timed DO/ &ed) 7

A 2.8 558 Gang) DAGI H5a0 + £reoay H:%:Q. Gk Saird eS8 Hardo.

B. 5:86e Hvyo 28 558 oSy $405rG ecrard8 SAR, HSH 558158 ecrabo S0,
$BS DTGV DOHTDIN
(1) BIré @) ASbcinBBodrsw () A srsd @) ASDBAW B Bocr
Who were the chairman and members of the National Income Committee set up in 1949 by the

Government of India ?
P.C. Mahalanobis as the chairman and 8. Gadgil and Vv.K.R.V. Rao as the members.
V& R.V. Rao and P.C. Mahalanobis as the members.

(2) Dadabhai Naoroji as the chairman and V
(3) V.K.R.V. Rao as the chairman and P.C. I_ﬁﬁhalanubis and D.R. Gadgil as the members.

(4) D.R. Gadgil as the chairman and Daﬂabgg Naoroji and P.C. Mahalanobis as the members.

Q) D65 T DD, SoireSHR HOA L gefPB.Bb. MHS $H06H DB eE.D. U5,
(2) OIS M ITOETon i Sobain e 86s5.D. 005 SO DD, HIOSDR.
@) P5SmDBebD. oS 258050 HEbgerT DR SHresn sobd &.esb. med.
@) 38 ™ A.eb meS SHBc5D HEHFET CIFTETON A 00 2.0, HIFOSDR.
/A Which of the following is not a component -:?f_lt.atal demand for domestic income/output ?
(1) Investment spending by business firms '.!
(2) Net borrowings from other countries
(3) Consumption spending by households i

vernment purchases of goods and servyices
1Lo8 >3 DO BIaD escrabo/dres ) hus,Sneo H0H Adros & .8 artio sveb?
(1) Tgrs Hode Depad Sgaho e
(@) =es Bare dood S0 LEred
(3) Satnorer DITIFM SO
(4) | HZ0ed 0 Tk SFuIEN S8ain Tose Brofith

El 13) %
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. ; ional income ?
8. Which of the following statements is/are true in relation to national

: Py
. . e at constant priceg,
A. National income calculated with a base year is k_uu?'m Bﬂ'lm t;?‘na]'c:.-‘ :’:r:ﬂses'
B. National income estimated at current prices is not inclusive of pri

C. During war period, national income is estimated at future prices also. -
D. National income divided by

total population gives personal income, -
-
0

nly (2) CandDo (3) Band C only (4) AandD only
FACTEOrS 50206008 500 o’ DE/ND 2.9y ?
A,

SO0 HOSS 508 w0t IS FAAFTATY) DS S0 2BArroho BOErd.
B. D& &80 o

IS wrdairorabo, S6S° STy Srdoyed HONDSISE SEH (not
inclusive), )
C. ding seood' z é‘:ﬁ?ﬂ'ﬁﬁﬁ'ﬂl HAHE S ®OST I
D airR)) uso BT 2P

: L 2P Sslnes @T'iy&ﬁ} Sabo SN0,
OB ISTETTR DoTES -

(1) A Sreszh () CdasiwD 5:-[_&:5;5‘%31 B s000in C &Sr(es )
9. Which of the following is not

the primary goal of'the Indian Government’s
Policy, which has been fixed at an incentive leve] 4
(1) To enable the poor to buy

(4) A 005 D Smesd
Minimum Support Price

Jtoes SOrAiTD) Todtsn

O 28200,
4) TS Doty &res y& TOSBESD §%0ex 7 =3 DBDodeso,
10.  Match the following

List-I with List-IT -
List-I List-1T 4
A. Gross National Product I Net Domestie P&uﬂt at m
at market prices

Arket prices + Deprociation
B. Net National Produ

ctat II. Gross
market prices

C. Gross Domestie Product\

Domestic Product, at market prices __ Depreciation
111, Net National Product at factor cost 4+ Indirect taxes
at market prices '

— Subsidieg
IV. Net National uct at market prices + Depreciats
Choo correct answer : P@ s
(W ATV B-III; C-1

(2) A-l; BIL: Cv {3@&*111; BI; c1
0d D1 60 worers ORI %) ewogrers 2SNB Sy ;
D1

@) AT By, o

,,-‘f{‘l ! IH
; 9552 ¥
A B Sses e o airesyd |, SO B D5 B3qres B
B. &rD65 dded’ 255 AT 1L $r Séos e Iﬂ%ﬁﬁré_]@t "
C 58 dbod' ro Hmreyd aéﬁ

85 1O s s erlarr oD
L SUSO DO 59Ty DES 25 Ares (&
000 - 58 38 ex 39 + ey
V. 370,85 $ders' 255 radirs a , BKHeSey
A0S MSrLIRTR) DoE S0 :
(1) A-IV; B-III; CI (2) AL BIL G-IV (3) AL Bl CoI

@ (4)

=
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12. Which of the following &

D. Through the AgTi

Which of the following T www.sakshieducation.com
A. For 2022-23, the Central nts is/are true in relation to the agrieulture sector in India ?
lakh crore. Gﬁverﬂm&nt fixed the agricultural sector credit target at mund T 185

B. Central Gove
; rnment | : ;
" Kisan Samman Nidhi i:u%:i‘?.};.Ed S Euppan:!\gt Bohexol b, IRgpoeE ugh Peagbap s
.- Pradhan Mantri G
address the prﬂh;lel:‘::!:);glma Yojana EPI"'[F@) was launched by the Central Government to
D. Im 2023—24 Union Budget gh premium rates of4nsurance for agricultural workers.
aro i .
Choose the correct answer : VETMELIS S b s fwivren allocated to the agriculture sector

= :::LI:B onl it £ aad D
y (4jr B and D only
2534 -555_’:&:35) Sormrds Honodod |Bod msmgw DO/ 23307
A 2022-28 HDOSSIOWE Mo, oIS 1HEDS L0 ITH 185 ofo §& &rer
. oo sgonoDod.
B, 2021 S DES HOIB BE HETS DO T g0 ToI (5806850 DIV AT DS e SO 267N
r&ododod.
O S55aS S0 DTSy HonoBOD ST By (BARo BE DBV 508500
529650 PETRD0B HIS Hisr SresS (PMFBY) HESDL @rEofo08.
D. 2023-24 Sol& HFSS, I T 2 of FR® Ss53rcH SO Teranomd.

HDS HIFETIR), JOTDELIN :

dherdo Spdardl Both HODHS

Serd8 Solo

(1) ASred {& C SBcsH D Srighad
(3) A 6050 B S {g B SoBcin D S

marketing in India are true B

) was launched i 16
10,000 Farmer Producer

tatements related to agri

A, Elactrnnin-Hational Agricultural Marketing ( .
B. A Central sector scheme named ‘Formatfonl and Promotion o
. Drganimtinns‘ was launched in 2023.

C. To address the issue of transportation of agric
" launched Kisan Rath Mobile App. | N -
cture Fund, the Central Government is providing medium term

culture Infrastru
harvest market infrastructure.

ultural produce of farmers, Government of India

loans only, for post”

Choo e correct aDSWET ig A and C only

Bandcﬂﬂl; (4 A, Cand DonlyZ
(3) Aand Bon IS £02050D Lg&é] T DD 2.8 7
ﬁf;éf PS5 <rBpE0f (e NAMIR 2016 & (@rSodorde.
5 g?al?; ol SETAS e 10,000 >65 Lﬁ'@gw aGEENS) ©F Solts HaHe s HHSV) 2028 &

. ol :
@EoRDoTR: L omoDd HESTAD IO ST dDDOD HONZ00HErAE, 2

0. 3gsRrOSTELTL 58 asri EoDoDon
& easdtThs SrBy& STOE SHdver T8, Tole NS0 S5SRrash

oS
D. é);gg% {Egej <o esyeds 200EFeAD Al @oHro8,
5BS HITERDL DouERE:
e (2) A dain € Aredad

C &7l
(1) B HBCiw (4) A, Cndain D Sressh

[El Www.sakshie'dgc!ation.com %
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Which of the following statements is/are true in relation to agriculture labour in India (as per the
Annual Periodic Labour Force Survey Report 2021-22 and also broad industry division based op
National Industrial Classification — 2008) ?

A. Percentage of male
agriculture workers.

3
B. Around 70% of total agriculture wurker(ﬁ"} ere female.
Choose the correct answer : d"

(1) B only (2) Neither A nokB 437 A only
Q8 858 588 48 585 DF0E 2021-29 Ss8osn

ﬁsytkem in m%ﬁm sector was less than the percentage of female

(4) Both A and B

2 AAH FOTE SO%5e — 2008 2

20EDe AP 10560, 2rEaSiodst Serdh 8¢ 588 ;ﬁoa}Lo@:oa Lgo:f: a‘giﬁ:usﬁ-? élaﬁ?;?é) Sg El?nf?.}é
A S5Sardh Sofod Hkd 201500 o Sirer S5arad 50500 o Lod 503, 5 &0d), >

B. DR 70% SERr0b SO0 (workews] dalreie,

DB DIPTTR), JoHT 08 -

(1) B3msD

assured irrigation, th 1 Krishi Si
sk {lrng o -..a Central Gnvemxg;mt launched Pradhan Mantri Krishj Sinchayee Yojana
B. Har Khet Ko Paniisa major mmpunent@ PMKSY,

'E l i

y the Central G-tg% t during 2013-
Choose the correct answer : ;}mm s
(1) A, C and D only ;:}m:- A, B and C only
(3) Cand D only e (4B and D only
WOSTHOS" DM Ihodey JPTOH Ho2080 '

tF8ob arsmsod DD 2.9y 2
A SEHad Prdwesss R V) woerend god

L

O HE & D ©F0 PMKSY & 5.8 |G o,
GOS0 DS), DB e 58850, 8 PE & IR Do S 2.8 @ eriio
. 2013-14 &' So|¢$ l92ed 0 PMKSY 2 Lﬁéﬂéﬂﬂc&. ‘
S ASPETTR) DOtHE S - \

(1) A, C 8 D S
3) Cehdckn D S

Arrange the followi :

uinﬂgj f R Ollowing o m ; he minimum support pri .

q of these crops for khanfmarketmg%asm 2023-24 - prices (in = per
A anar—-hrbr"iq B. Padd}r—[;umnm C, MajZﬂ D Y
Choose the correct answer : v e @7 g"k D, Ragi
;Lacﬁ’:é; Srop80k C.BAD @3 D,BCA (4) B,C,A,D

e Yond 80k sood’ hy S GO (Graraies’ 198 §soerensy

B006" &9 38 - ) eprdor (80d

Al D6 B. 38-3p8e ¢ By, b onines
N8R RATTRR) JOTHE & | :
(1) C,D,B, A (2) C,B,AD

= o

w,

J@ ABs6awCcnsz,
32 @ BXBckwD Aredad
ascending opder based op t

(3) D,B,C A (4) B,C,A,D

(6)

Te
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Which of the follow;
wing stq )
“ements is/are true with regard to di
igital services in India ?

A. Jeevan Pramaan j
aan 18a b.
B. The Digital India Prog. ¢ @0abled digi
a Pro ed digital servi :
Choose the correct answefﬂmme was launched in Eﬂ.lgm for peusioners.

(1) B only

(2) Nej ="
ﬁ'déa'iﬂﬁ' o Yo b either A nor B 3) Aonl
e f; DSO8 S0n0800 o & R (47 Both Aand B
3 Ased : i;rﬁﬂéﬁm-ﬁmﬁo&‘a‘da Besraess o ;?N
sl [0 HESD 2019 é"l_i'j‘ﬁoﬁo ﬂ@ [ &r& .

(1) B 5
o (2) AXOCBBoARSYy (3 Admesd @ A $8cin B Bocr
= . .
% Indi: Efmfﬁﬁzﬁts are true in fglation to the industria] policy resolutions in India ?
o In 1943 ,Indusf.:rial Pnus Policy Resolution was announced in 1948. - L.
o licy Resolution, it wHs stated that arms and ammunition, atomic enerey
and r “.FEF transport would be the monopoly of the Central Government.
C. Another industrial policy resolution was announced in 1956.
assified under five

D. In the Second Industrial Policy Resolution, all industries have been cl

categories.
Choose the correct answer :
(3) B, C and D only M,Bandnon]y
rESTIOS BT E TN Aoarodd Son0bdh 08 Feges’ 2D 20 7
A ardSTE0sS, 30563 0TS DA Ty 1948 &' (HEES0T.
B. escingren SHbain Spodrbod, it B8 6T ol (930S S HEr g som &oLTaA)
1948 OLFNE DT SomsoeS mjﬂ; aﬁgﬁé o
C. moSE JrOFadS DS SopR) 1966 15 o . e
D. Bods rOFE S Somsod HBFDHO 38 méh SdiidenT 365800000
oo ‘3"‘5’?‘“ : @) ADOGD DIMSD
Ellﬁ,Béaﬁoﬁncmé o ﬁ,BIﬁGoﬁJD;‘ﬁ'[ﬁﬁa
India as per

(3) B, C 0bcin D ;‘.\J‘Léﬁb . |
Which of the following statements js/are correct with regard to the services sector in
0
‘Eco oy 2021-227 _ " s
A hﬁfif}'u?f J;:he Gross Domestic Prﬂduc;g{GDPJ wa
2019 — 20. kit o servicsa Sector

: e lﬂpﬂ the services sector.
Hotels and touris S stration aTé not rt of the "4

C. Defence and public adm o
e gg; A only g{y—/ﬁ and B only
T8 HowodHod 568 FipioS DO/DD 0N ?

Choose the correct ans™e
and C
(1) B only @ A 5 o0 '-;‘,J;@t? go

Ll o Bde dofio 07 aodHothndod.

D8 58 ¢ 2021 - 22 (5 2
e atorat?
B. » £o ™

Fd ) SHOCED Khﬂ‘sﬂﬂom 52555 e 210 5’

contributed by the gervices sector in

C. e SoKod” BEE ;
OB SSrerara) SosEY 5608 C (@) ASSD (4) A Hdaiw B &riedsh
(1) B Smad (2) A B

(7) %ﬁ
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( 19. ) Match the following five year plans of India with their objectives/focus :

Five Year Plan Objective | Focus
A. Eleventh Plan\ I. Agriculture
B. Ninth Plan 1. Faster and more inclusive growth
C. Fifth Plan III. Growth with social justice and equality

D. SecondPlan _ IV. Rapid industrialisabion

V. Removal of poverty)

the correct answer : .q:]
ATL; BIL C-V; DIV | -
(2) ATIL; B-IL; C-V; DIV | Pr"'}-é’ ’ ‘?‘1
(8) AV; BIL, C-I; D-IV W
(4) AIL; B-V; C-IV: D-III o
POSTH o B din ;8 a@rué‘m&.}gﬁ-ﬂoaa BOTOS BSHGS0A -
DdoesSd (Serds AFHo/5)8 FE0DS oo

DOTOSH 1DDE 1 Spkarcbho

E?:;ﬁé WETRS L $388888 286k ©OE DS 5O
gm f@i’é ML EPBE 000, B3PS 108 SrasS 598
\DErPE V. &588183 Fozinlisn

A V. %o NSRS
DB AIPTER) DoSHT B - :

o e ®F

(1) A-TL; BT CV: DIy @}
(2) ATL; BIL C-V; Dy ':1
(3) AV; BIIL, C-I; DIV &
(4) A-IL B-V; CIV; D-II W

ol
Consider the following : ‘L}
Assertion (A):  The liberalisati ian

iberalisation of the Indtmecunom]r in 1991 unleasheq
! Competitive markets

Reason (R) : ﬂnmm:]ﬁfo.ry licensing for the prog

Choo e correct answer :
Both (A) and (R) are true, but (R) is not

(2) (A)is false, but (R) is true.
(3) Both (A) and (R) are true and (R) is the corfiut
(4) (A) is true, but (R) is false. ®
(508 rgmres 56880508 | <
WD) : 3758 8BS 35595 1991 ' pBS $65Hecses el 20
TORO () 056 300 SIS 0RO K 66138 gy T OBR0E,
1991 FOFE Dered ST I;{ﬁ D67 oo, R RSy éxﬂ@ﬂ'ﬂ )
B DEMTTD) JocHE s .
(D) (4) 580 (R) Bodr 2.3, 54 (A) § () SO D60 5.
(2) (A) &), D (R) 2.5).
(8) (A) 00K (R) Bockr 2.5 S0 (A) § (R) DO Ddde.
(4) (A)2.3y), 50 (R) ).

ﬁxplﬂ.n&tigu of {A‘j

E (8) ' %
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Arrange the following deficits as % of GDP related tgdJnion Budget 202223 (Budget estimates) in
o

21.
descending order :
A. Revenue deficit B. I@nary deficit
C.. Fiscal deflcit D. tive revenue deficit
Choose the correct answer : =2
(1) A,C,D,B (2) BA,CD
W$CDBA 4) GQ4,BD .
002223 (G ®osITen) B0\ aFe woEoh H0gPGod e Share B (800 Sen (deficits
TErD) ©SOTET 1¥50065" e0a5d el e
A O3drs St B, (¥ Sew
C. (855 S (fiscal deficit) D, oE BIsrs S
HBS DITFETRL DOCDE AN
(1) A,C,D,B ' 20 B,ACD
(3) C,D,B,A (4) C,ABD
99. Which of the following is not a priority of 2023-24 U Budget ?.
i i @011 Erﬂmﬂﬂﬂﬂd investment
(3) Inclusive development ;ﬂ I,g :g::ture and in
&5 Ang) (TEWE0 .
(208 TS DO 2023-24 Sol& oF AL - e ol o -2
D g (4) ¥ SHeven B Pl
@) 5298 ©DIIE : =
03, Match the following pillars of NITI Aayog with their 4 tion
FPillar name Relation B
A Pro-people L]volvel:.nant ?f Citizenry
B. Transparency 1. Womeni? all ‘aspects
' ; \ IiL Oppnrtumtyfurtha _'.f-:;-uth. : o
¢, B v, Fulfilling societal and individual aspirations

D. Participation o amehlive o S

Choose the correct answer :
(1) A-IL; B-III; C-V; D-I
(2) A-L; B-IV; C-IIL; D-11I
9y AL B-Y; CF; D-IV 3
¢ 17 ! E D-[
g il o J:‘&rsnaﬁ)ﬂbwnﬂc ¢ B 28 HEDHID:
.

ozye (pillars
806 H8 eTh Q 0

o /N @%

Ve

Majfii)ﬁJ‘@ [ e e fg
A P b 1 ©) @ored Hirden
g‘ Q:Tiﬁgjo L oSnSess edsdo
D 94860 v, Rdras H0080 Johis esofer TG 60
| V. 1H8D)0B0T (530 so
BB DETTTRL oS |
fl,Tﬂ-II,- B-111: C-V; D-1
2) AL BIV; C-IIE p-1I
(3) A-III; B-V cL DIV
(4) A-IV; B-V; c-I11; D-1

[R] (9)
www.sakshieducation.com ﬁ
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| 24 Which of the following statements is/are true in relation to five year plans in India ?
A. For the period 1978-82, Rolling Plan was implemented.
B. The final draft of Fifth Five Year Plan was prepared by Prof. K.N. Raj,
Choose the correct answer :

(B only (2) HeitherAaerB (3) Aonly * (4) BothAandB
raiod Hodsd N Pios QOO0 1808 e DE/DD )7

A 1978-82 Rl OG0SE 1D i W HGL0 26008,

B. 2055 D003 (Herd k) @085 |PB (final draft) D (& TS, 0 Scirds Savcko,

QDS BEFETER) JOHES ¢ %

(1) B&rad @) ADbcn BPodr s (3) A smedh (4) A BC5» B Bodkr

256, Which of the following statements are hﬁ in relation to NITI Aayog ?
A. Ttwas set upin 2015, ~

B. Prime Minister of India acts as
C. Itserves as a think tank of the
D. NITI Aayog aims to foster oo
' Choose the correct Enswer :
(1) Cand D only ~12 A,Band C only
(3) B and C only N (4) AandD only
A8 8% Honodod 500 rsmsed’ 39 2,53 7
A BV 2015 & Dovyen Swesy,
B. 2r86 5o 0B DS wTrRL
C. E’:-i;isﬂ T8y P& HIPEO (thi tank) ™ 8 &3l HIFD0A.
D. oare Sids Hires PRI DOFOBoEa0
9B DIrTTR) oHTsy, - - e
(1) C Bakw D Smeszh

(2) B
93) ®) B 260t C Smesdh R ooine Snas,

the Chairman of NITI Aayog.
government,

operative-socialism among the states. -

TOB™ $552r070%,

@ A &0dtn D sy
Which of the following statements are true in

relation to five 3
A. First Five Year Plan was launched i 1951,0° Yearplansof Ingjg

B. First Five Year Plan Was a successful plan, "
C. The Third Five Year P

e lan was a tot%?‘mlure In reaching the targets 1aig down at the beginning
D." Annual plans were implemented for Q:T Period 1965 — 1969 K

Choose the correct answer : 2 I

(1) 4.C and D) only . 5‘? ’mfﬁ. Band ¢ only -

(3) A and B only W @ Bango only

FOSTH 0356 (SerP80% 0205001806 i D22y 7
A A Hous (HErEs 1951 & Do,

B. i H0c588 (558 2.8 550Ky 8 o0 DDk,

C. rdad Hotssd (Herd oo’ QPN OF o0 6

OS50S ipdm DdOJon
D. " 1965 - 1969 57708 0¥ |5 Ders e 3ESH0 206f08, ~
V8 DT Aoy -
(1) A, C 580k D S (2) A, B O C ey,
(3) ADBcky B et (4) B OGN C S,

110) %
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B. If sex ratio of 8
population i number of fi
C. The sex ratio Mmpulrt?;: Ec}redl:.han thousand, i ;'::;ff ase:n]i_gﬂﬂ mai?s. 5
ndia in 2011 was ] vou e sex ratio.
ess than 1000, \,}a

Ch the correct answer -
A and C only ’
(3) Aand B only (2) A BandC
rESTHE BETE So0BON (208 Fipiod' b:}f:"}%&ﬂ?and C only
2 OB

A DS 1000 HOS D
B. =g Ooff D)8 Eﬂiﬁoﬁié? g DORORON B foll S 0w ax ol
G 20116 POSTH sar Dot DS g lg' B0, A |H38re Hoff DS wotrd.
BB DIFEFRTR) DOLHES : Gt e
(1 A maﬁ C Srebad @ 9 A BSBAWC

00 ot
f‘[?: 1:h.ich of thlz E\ﬁg years was the N g o2 St o '
(1) 2016 (2) 2020 ) a%i?nﬂ{l;;ﬂp;i:l g ann%:}ﬂdm ?
ro8B§0S & 80P avrer D) 808 S 5 thoses80S |HESoTd ?
(1) 2016 (2) 2020 -(3) 2014 (4)
The total fertility rate (TFR) in India dug;g 2015-16 as per the National Family
(NFHS)-4 was nearly : -
(1) 19 (2) 25 (38) 16 22
aredcdd Sotnod e85 SO (NFHS) - 4 |Hs6o 2015-16 & a?ﬁéa‘iﬂé‘ Swgo oS O I

(4)

o) .

(1) 19 (2) 26 S (3 16 2-2 L

30, Which of the following statements is/arecirue in relation to crude death rateé (CDR) of India’®
-

population ?
A. During 2014-19, the crude death rate Wi
B. During 2006-11, the crude death rate ﬁf
oose the correct answer : b -
E? B un],ye (2) Neither AnorB 3 A only Both A and B }
G0 BTE gy S0ess (crude) méwﬁﬂw (CDR) $ 020605 So& S DO/D 2D 7
A 2014-19 GF Hayebd SO Bem 7 KotoelsoysT &b,
ay 7508 g &0l

B. 2006-11 088 m&g_@m :
0D aiai ¢ (2) A SvBasn B DoA™ gy (3 A SrS3D
i correct in relation to the infant and neo

Health Survey

]ess than 7.
more than 7.

(4) AsHBA»B Dodr
natal mortality rates

u';_ B S(eba e is/are
$1. Which of the followiDd S8 1C, 1y Health Survay (NFHS)-5 (2019-21) ?
in India as per the ]P:ﬂt;‘;nw (IMR) decrﬂﬂa?ﬁ when compared to National Family Health Survey
A. Infant ortality :
16)
(NFHS) - 4 (2015~ NNMR) dec@fed when compared to NFHS —4 (2015-16).
B. Neonatal mortality
nsw (3) Aonly Both A and B
o SSerdd B SHOETe Bh% HooHod)

{1:] B 'U‘Illf o
B0 Boexoe &858 Mgééim ? ’
S O/DD e e NFHS) - 4 mgywn & DO )9 T OO Bew (IMR) Shod.
A apdos S0en0P Z 3;5 s (NFHS) 4 2015-16) & HFOISDI® Aderes P Sdere Oew (NNMR)

B, a8 H0eno®
Shod. .
,)m‘-‘kﬁ"?;;fm A <850 B dodr sy @) A Sreh

To Py HEPCTRTL
(1) B Jyedad
(11) %ﬁ

E www.sakshieducation.com
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32. In the national income accountin

g concepts, any excess of tax revenue over government spending ig
called :

(1) Public deficited. (2) Public expenditure

(3) Public BODﬂ.Ep( Public saving -

acirarah ©F ool rssed’ [He 5000 50T Qo drd) D) TDAD D% Denardd ?

(1) 1D Sew (2) (Dbebg Hpaho

(@) HDE $SnHen

(4)  |DZoebs Sridy
Match the following demographic indicatars o

fIndia with their rates: T~ * -
Demographic indicator Rate i Z % ;
A.  Infant Mortality Rate in 2020 1. 9.7 ’ 2.)
B. Birth Rate in 2020 /z’iig 6:0 e
C. Death Rate in 2020 111, 280 o
V. 195 <)
Choose the correct answer - o
(1) AIV; BIL; C.1 AL BIV: G-l
(3) A-IL; B-I; camy (4) AL B, o1
508 08T amarnsms RDOD 363 BOSE 2385855500 -
BTEIDETS e e 73
A 2020 S b Soees By, L 237
B, 2020 & asvrer By IL g0
C. 2020 & Soderes By 1L 280
) IV. 195 4
OBS DAL DoHEsy - ()
F-355 3 dm v on
e @ AT B, o1
34,  Asper 2011 Population census, match the follow: » i i ;
et St ™ o S T sl
A. Nagaland L 30 L mately)
B. Arunachal Pradesh 11 1 %
C. Mizoram III. 20
D. Meghalaya IV. 14
Choose the correct answer : o
(1) A-IV; B-III; C-I; D-II 2) SL 1 R :
(3) AL B-I; C-IV: DI )ﬁinniﬁg’n]’ﬂ
2011 2332y 880 (25°60, 1808 olared e BrElandns, .}oﬁ‘m ; =
oYgio Db BT (©EF) (o
A Trerod L 30
B. @Serdd (Has Ik 1 ¥
C. &S 1. 20 i
D. Hireas V. 14 i
OB ASFETRR) JoDE Dokl -

(1) A-IV; B-III; C-I; D-II

(2)  A-L; B11; CIL; D1y
(8) A-II; B-I; C-IV; D11

(4) AL B-IV; C-IT; DI

(12) o

www.sakshieducation.com
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35, As per the second ad . .
Statistics and ngram:ﬁ; Elmmte of national income 2022-23 released by the Ministry of
plementation of India, arrange the following years in ascending order

based on the share of agri :
of agriculture and allied sectors in gross value added (at current prices) in each

year :
A 2020-21 . B. 2021-22 @ . 92022-23
Choose the correct answer : "-fﬁ
(1) B,C, A A, C,B S13) C,A,B (4) C,B,A
o B0 BosS Swotsdy dsrerdd

8 (D0 s Kol HBa HEse e BB TP IO

e0STreD, 2022-23 (55750, (500 oSS T “5dy Nensd HB0HES” SgSarab Sk e 000 HOMe?

ey (DS SE0S) ecTdor (808 JoSSyoreih edre E06 @585 :
A 2020-21 B. 2021-22 C.  2022-23
5D DR DOTHTEIZD
(1) B,C,A (2) ACB (39 C,AB 4 CBA
ita net state domestic product of

order based on per cap

following states in descending
2020-21 :

36, Arrange the ;
these states (in rupees at current prices 2011-12 geries) in the year i
A. Maharashtra B. Gujarat /" Telangana D. Andhra Prades
©
(4) BT

Choose the correct answer : .
¢.BAD B -ABHC

i B o o Sod0 JRLo1H TR (Eraraped’ S0 R goed

E08 TrET O 2020-21 &' & oAl - :
201112 (8e8) @O ﬁé%i:j: . G)}lzﬂ BeOOITED D. ol HBT
A SSTIR B-m ‘ 1
HBS DSFEEROL Joﬁ-:-ﬁ'i} . % A,B,D,C 4) B,D.AC
GRS statements are true in relation to national income in Indi:a‘.? -
37. Which of the ranw;;tg M . of national income were prepared by the Ministry of Statistics,

A. The first offici estma”

Programine Implen;tent-:::’:f > Dl jncome Were prﬂpared wit]; hase year 194849 at constant
B, The first official 59" .0 : )

prices. N come publishe in 1956 were knawn as Fhe conventional series.
C. The estimates Df,_mder the title conventiona geries was published till 1976.
D. National income* : i ',
Choose the correct ansWer: iffz:- A, C and D only
( and C mﬂ}’ﬂ] ;gisu ;;::a D ::-nl&'
(3) A, B and C o2 o) (808 &T'58) Ak
rOSESE a-éédsra'oﬁrﬂg mf;‘;iwm Ol AESe 3D HOBSS T Sasrd Tod.
A Tné) I0cse3 2807 5 oo 184849 o8 HodS 808 Saird Trd.
B, Zwé) =5¢3 @@5"55 @D,_;ﬁavﬂrfﬂ Holderad (#ed (conventional series) €q) 2enadD.

oD & 3 19763 Hodd to HB% (DHdoeo 38R0,

’ B
C. 1956 &° |0 'ﬁ:dﬁ-‘rg ﬁ_acﬁj‘ﬂ"li‘ﬂ':}

D. Sopora 36 P
BS BEFEIL J;gg‘m (2) A, CS8akn D Sr&
S 4) A SBaln D e
iy =
. {13) ﬁ
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38.  Which of the following statements are true in connection with the production of crops in India in
2021-22 (Fourth Advance Estimates) ?

A. Telangana was the third largest producer of cotton in India in 2021-29.
B. Uttar Pradesh was the largest producer of total foodgrains in India in 2021-22.
C. Telangana was the largest producer of maize in India jn 2021-22.
D. Madhya Pradesh was the second largest pﬂucer of wheat in India in 2021-22,

Choose the correct answer : ®)
(1) Cand D only <]
y,Cand D &)
@ .
(4) A, B and C only {:‘
i}nﬂzg (TR SW0EY eotaren) & wﬁé:ﬁﬁ:é‘ Dobe aé)BE Sonodod 18os Tipiods’ H9

T AS)ES 488 (HBF 08 DS @
i 23‘21—22 & rosdios Soors w8 Y 3:.:.!;'?.51 ;égawﬁ}mgﬁo&im‘m i
aps ol ﬁﬁiﬁgigfﬁﬁ SS)8S" S0c55 BT Dot ed 48)BSHT Godod
(1) C8asn D aressh -
@) A,B,C S0 D by
(3) A, BS8csn D S ®
@) A, B 00aw € Smad, <
39.  As per the 3%

final estimates of production naj i

e e : oLffajor crops during 2022-23 ; i
: OWing crops in descending order based on %ﬁmt&d Production of the giv.
C. Maize '

; N crops ;
- Oilseeds

Choose the correct answer : e

(1) C,B,A,D (2) B,D,C,A

a:-ﬁé;-;;gﬂmzm & 5o . B, 0,4

23 O DS Dot e B e

Ty 481D ecrdor s Eso by mﬁ-: ® ®osve 180, |20a OB 1H8 Bos
A Day) TErgen

b RS EQ- AP Rosey

D e (G IINE T ST gen

865 RAIFEFRTR), SotHE¥8Y -

(1) C,B,A,D '\/t]a} B,D,C, A

(3) D,C,A,B 6%) D,B,C,A

(’ 4“\ In _India, the total foodgrains production (1211}’ lakh metric tonnes) ip 209

estimates) in kharif season was estimated at dbbut ; 3-24 (secong advance
(1) 1586 “62) 1508

(3) 1481 4) 1542

OSTH0S" 2023-24 (DOBS J0OBR ©OSTTED) DED Sz kocs BT Fchard.y

B0 gy

aS)E (©OF J(e3s )y ed’) Mdrdmr SO SFS oo
(1) 1586 (2) 1508
(3) 1481 @ B4

(14) ﬁ

www.sakshieducation.com



Which of the follows _ www.sakshieducation.com
4. following is true in relation to Nationsl Renewal Fund (NRF) ?
(1) Tts operation period was 5 years only

It id . ;

(2) 1t provides financial assistance to public and private sector employees.
(3) It was set up in 1996,

/{:ﬂ Financial assistance from NRF has been provided for the Voluntary Retirement Scheme.
2re0 YOGS DE (NRF) 8 RD020H0D 1§08 TS’ DB 2.5 7
(1) O @50e (operation period) S'e0 5 B0 JFRen S eSh.
(2) (DS Soff Hdakn HonSen soif advel) & A0 Dé Hirabo BodRO.
3) HI 1996 S Domaen Saech. 3
(4) 2raad HISHGED DO H0d Db HIFIry B 108 Hesd DB HEE0 FEH @OOT.

: ¥ ?
42. Which of the following statements related to \e Nation One Ration Card’ is/are i,:.rue

A. There is seamless access to rations across Ijjilia after its launch.
B. Central Government launched the scheme imthe year 2016.

Choose the correct answer : % sl B
(1) B only (2) Neither Anor B (3) Aonly g Both A8

12, & B40 2.8 BAS 5550 9020000 (208 iSO / 2D 2y 7 ok
A BDD [DE0DODS Sorges résdio Jwdo B Bas s EONS oW 5k Hod

FOSErDE Q2 ocHen SOADFONTTOD.
B. %o|& (HEhe 50 & HHsR) 2016 S |oDoFod.

> Oam

2 JoE Fokwsn : G) B Bodr
:i?i ﬁgﬁ ’ (2) AobcinB ﬂﬂﬁ?goﬁ 3) ASrSD (4) AsHBAD
_ . 4: 1 Boreign Trade Policy 2023 ? .

43, Which of the following are BeRres Séﬁ rﬂlg:ﬂl'siﬂﬂ areas
A. Ease of doing business ; " Import substitution -
C. Export promotion through collsnoreiv® {:? ) ,
E. Incentive to remission :;
Choose the correct answer : (2) A, D and E only
(1) A, B, Cand Ed"é“"" (4) B,CandDonly

B,C, D an fe> e DOZTEN D) ?
? Do 2023% fio
808 836" 2roSTH 5% 'gfﬁs B. &)DS) G0Te)/|proTed
A, edol™ J"F‘éli‘:;ﬂ =08 D. Ofdébe (Desgsirycho
C. dirsdo T IT -0
E. & )T B3NS0 , E_llﬁ}
DB HArErral DOTHERD ) A, D Sdcin E Sriehad
(ITA, B, C 000 E S 3 ) B, C 3800 D Sr(ead
)

(3) A, B,C,D B E ., O ,

o o o of ndustrsl Production i gsirusied an;

. L/I?dla the Inde: 1@ Weekly basis
(L-Quarterly basis ) Monthly basis
(3) Yearly basis = AD aorEo Do ;
8 &) o ek
PESTioS OIFTWE & 2 &6
; (BSOS
o 5";5

1) Brhs (B @) Bord ransss

3) Q¥ IQHOES
E' (15)
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45. Which of the following statements are true in relatmln to 156 ?‘mance C:h iy :l;:}% wiigliinge:
A. For horizontal devolution, income distance criterion WHEGIVOR MOTS igh
B. For horizontal devolution, tax and fiscal efforts were given less than 3% weightage.
C. C arajan was the Chairman of this Commission.

D. The recommendations of this Commission are applicable from 2022 to 2028.
Choose the correct answer -

=) =

(1) A and B only %)/A,B,candn
(8) A, C and D only ‘%) B,C andDonly
15 05 DoIrdE Howodod 1808 argmgerest aq 23] ?
A DATOSE Dy HooAa ROOBODN, BLrah HSrdo |3e5TER8 (income distance criterion) 40% ¥o%,
. flmgmo {we;ghtugeh 25180 aﬁﬁc&f;&
. ) b=, L o, b

el f:;_ NODOSOD, .afﬁai; : Ocln &4 |Daban e 3% Lot 507,09 Breradso

C. . ﬁoﬁnvaééuugﬁ R0 &), 3815 e
D. & &30 503500 Toky Byomisnss L B0 AFI )

t;} A nDasn B Smes, (2) A, B,C 08w D
) A, C 5Bckn D ey (4) B, C 50050 D Sres
48, Amngethefullowing taxes in agcend; i
Een;;ﬂtftatea s 4 e ndmiurder based on own tax revenue composition
: goods and ices i
¢ e services tax (SGST) B. State excise

Choose the corTect answer - oD, Motor vehicle tax . O

of India

oy B o ogyer

5 S s D Brerdy TITE Hedyy
(1) A/B,Cc,D (2) D,AB.C

Which of the followi state
Managementt[i'RBMﬁtt? = bl
A. The Act

3
N c£B) C.D,B A (4) D, B, C A
true in relation to Fiscal Reg

pﬂnﬂlhlﬁt}r and Budget

- i enue deficit b 2014
Aﬂperthmﬁ.ct,mt_hthe iNning of firme ¥ :
deficit must be at least ﬂ-ﬁixl:_eg e ‘é@ﬂal year 2006-07

» the

Chiteats, 1. & i innug) reduction i Asecal
(1) B and D only A
(3}, B, C and D ﬂiﬁ "y
&% 2O §ed SO an 2 6 5 (FRBM) cS¢52) 02)0M05) 1Bo& o :
A, & dho 278 5, 2004 0 @Soen {aﬁ'eet;i\re}zgﬂ S0 0B. Biod oy 2ad) 5% 2
B. & o567Q) a8 152068 50 2002 & (D5BoD ot notified).
C. 2014 585 D38 S'en Boom draren S80S B30 26foa
D. & oo 15580, 2006-07 a8 oo ¥ oFomoa, B35 Sey (5, _

SDIV0BMT 50 0-5% I+ romd), seal deficit) o TR ebthse
QIR OTHEDSM |
(1) B 08ciin D Swebsh (2) B, C 508050 D s e85,
(3) A, B, Cndain D

@) ADBKN C s,

E. (16)
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4. Match the following mega clusters with the place of their location :

Mega Cluster :
s Jooclerydlustr 1 B
B. Handloom cluster T Chinngl
C. Leather cluster III. Ludhiana
D. Powerloom cluster IV. Mumbai
V. Varanasi
Choose the correct answer
) A% By ol D1 @ A D
Ay A0S, Lo S -Iv; BII; C-V; D- -
806 Sorr EHBS eI Jo7En T (HTH0S aaHEtod
S $P0 (5o
A zBed iub 1.  Oaod
B OFe 500 nm I:
. B8 (&) §0 I erdoira s
D. HSBeara) E00 Iv. &wod )
v. I8 J
- a0 ¢ ; —_—
rfl@.i }:;Sg ﬁ?ﬁ?ﬂﬁg’m o (@ AL BT F’g‘;,,“f,‘f .
(1) _I;‘h B ;J G—]—i* DI -_-1 (4) ﬁ.l"ij‘ H-III,. - 'Sma]] and Medium Ent&:‘pﬂﬁe
49. ghl‘:h of t.ili; following statements are trae in relation 0 Micro, " s
5 9 i . . f MSMEs.
{MSNIES) m India ? the Ce L Gﬂﬁﬂmﬂﬂﬂ‘ﬂt for regm.t['ﬂ.tlﬂn o - oy ances b}l" MSI!'LEﬁ-
QUEMES b, 8 b e L o e i 2 20 o
i v o S
= . —
¢ Cmﬂﬂj ents to MSMES _99 more than 60 Jakh MSMEs registered.
Ill?gl the help of Udyam Port.al. mn 2021-22, m
s rrect answer : A, CandD only
Choose the co @
d D only "~ w2 (4) A and C only i a &g‘sm;ﬁg )
(1) & Sher0 (MSMES) Hoodod 150
A Band ConlY o ot spissdost SO0
ardéﬁio*‘f" ariy D9 1 & réoDodod.
p 5545 2#9S (Udyam Portal) 25 ¢ srS  SGS &
anai{ ? o 550 SO dold {g}hﬂl _-Sin o] BOGH Hoherds Sol® (925088 50 ;
ﬂ- EII E} {gﬂ.ﬂ"f Ll
B, MSME €0 & S0 4% S MSME ©f0 OWOR® Sosb TFOD

MS

' b

Lﬂ'ﬁﬂﬁﬂaﬂé- b ﬁgﬂm&rﬁ)ﬁ s % S0l Eﬁﬁ]é,ﬁo Soryen Saoh.

C M oA SIS 0908, 2&21;52?2’ ol 60 E© §0B 5035 MSME & ST FRFAD
8] i

2 AC %8050 D 3D

as € Srdad : .
) A the basgis of their year of establishment :

D.

20 a%ﬂgy -

(1) B % it tiong on
Ao OB ot o
50. | Arrange the f000%0 Lot Bans Hdnialiﬂﬁ}n
; i tment Bank of In poration of India (ICICI)
—/ B, Industrial INVEZ" 1 4 Investm PORCI)

C. Industrial G_redlt » Corporation of India{JFC
e <] ® D,AB,C

D. Industrial r: 4 D,C,AB
ct answe c,D,A
Choose the coTT® 2 B oS0BS HOSSITO eS0T @ e |

(1) C,B, A, D
&8 H0ROX L e DB 1
2

808 gﬁ{;}ﬁr s eps0dsoR ()
A pos = el 280 i
B aros OFES oo Depad S04 1CICD
C. g6 JOTS T ogyBAS IFCD (s

D. zp6e OED 43050 !
B DT ‘:’Dﬁﬁrz; B,C,D, A 3 D,ABC (4) D,CAB
(1) ¢,B,AD
okin

E' (17)
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Consider the following Assertion (A) and Reason (R) :

iding irrigation facilities tg
Assertion (A) : Giri Vikasam scheme in Telangana is aimed at providing irrigation the

. d 1 &
fallow and uncultivable agricultural lands of small and marginal scheduled triba
farmers,

Reason (R):  Giri Poshana scheme in Telangana is aimed at addressing the needs of scheduleq

tribe farmers for sustainable agricultural development.
Choose the corpect answer : :

(1) Both (A) ang (R) are true, but (R)
(2) (A)is false, but (R) is true,
(3) Both (A) and (R) are true ang (R)

is not the correct explanation of (A),

is the correct explanation of (A),
) is true, but (R) ig false,
1508 S9H¥8e (&) 0BGy SO (R) K)Gﬁﬂcﬁ:@
Sed¥Se (A) . fSoorad’ 3

o5 m-f Slios TosI@S) &‘:uﬂg'iw Garos SsSraherre Hes SHBek
30 50 Spdarah s =4

bl 3 airéxeﬂaﬁa & ¥Gs0 ¥O30To AT0DSE Ay
SU@0 (R):  Beromreest RS Bk Toay B SSRPCl) ey SR

St ATODNT o o éé e S Ssarah ©DSHO @SHTe
OB ST, Aoy, - &
D (B S0 ®) Botir 2,5, w0 (A) 5 (R) HOENS e 5

€.

(2) (A) &2y 0 (R) 2.3y, g#)
@) (A) 2805 (R) Bockr o,

) S8y (A) % (R) RDOT/oes AT
1) (A) 2.3 22 (R) &3y 5,

Match the following sectors/departments D
with prdposed o i
:ntt: o0 account budget for the financig] vear Mﬁ .;.f?( 'I;'z?i;];r_:;‘;tahm Seﬂturs.fdepartmants "
Ote on account budget for the financig) year B) : * fon oo Telangana state
Name of the Sector / Department P:-qEnse i
A, Information technology S 40 dﬂﬁf}xpmd“um ™ '?'cr‘uresj
B. Industries 319746
C. Agriculture IT.IC}TT:L
D. Panchayat raj and rural development a2 543
Choose the correct answer : o
(1) A-IV; B-I; C-II; D-1T1 (2) AT :
3) A-IL; BIV: C.I; Do P

TS {2(34_.25 .1“2;*3" SR8 Joss o o
BOOME O3 .65 635 @T065 238 Hedo): o ®8 Do

: BIE 5
o/dzrifo Deb B3 Syan0 o et 02050

A DS oiBLS L 4gjoso

B. 20\F0en 1L, é&'me

C. SgScho 1. W

D. JoTrahe o S8aGsy reEdSyd v, %;‘543

OB PR othEHX - o

(1) AIV; B-L; C-I;, D11 & A% BL G Dy
(3) A-III; B-IV: C-I, D-II (4)  A-IL B-IV; C-IL; DI

(18) e
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A. Sales tax revenue to GSDP ratio was more than 3%.
B. State excise revenue to GSDP ratio was less than 2%,
C. Motor vehicle tax revenue to GSDP ratio was more than 4%.
D. State goods and services tax (SGST) revenue to GSDP ratio was more than 6%.
Choose the answer :
(1) B and D only (2) B, CandDonly
(3) A, B and C only (4) AxC and D only . 5 Haars)e
Boomrs FETRE S SoPDISO - 2023 HFE0, BegrasS' Sy H0aL T il
(GSDP) D238 (% S>80% 2018-21 Hiféx) § 3020000 (806 Fgwod 9D 229)
18 3% $0® JFopa.

A @205y Hd) TAS o Tl SRcEreS B8 HES ki
AT og, S0 5070
B, o JE2E TRA8 o o BYaIre 88 o ixﬁ B ew S0 M.

3 Saares)
C. ﬁ?m‘ﬁ)m@ﬁ@ln‘a}dﬁ&?emﬁﬁ ; e
D. O7R S55 DS D) oi8 Jre ova) H0ire ) GE 68 D5 6% S0 5

TR, ODS Dhafoed :
i méo;;nﬂﬂ S S (2) - B, Cobcin D méi
- B 8ain C SmeSad (4) A, C0cinD ;55?@ A
s ing state taxes is not subsumed in goods and nen.'mes 4
i s (2) Taxeson advertisements

(1) Service tax (@) Lyaurytax
tate value added (2x &P Fah B (not subsumed) ?
ST 35 3o 5 G L
808 T3} DAY @) DEOSOD i;a
D)

e0) =2 , o i Tel a (2018

(3) Ol Dens $003 ents are true 10 relati ?Sp;hhc s
% fullﬂwmﬂ Etﬂ-t’em s .

Which of the a Socio Econ® tal experfdsture. X

averags) 85 DO expenditure Was 88% of to tal diture.
il expen
A. DE?E].OPﬂlEﬂt ndjt‘l;lre was af ou ldefgﬂfil th.lrtj" thuu_saﬂd crore rupees. v

nt expe :
B. Non-develop™® expendifur® W8 of total expenditure. —

-21

C. Per capita dﬂwlﬂpﬂﬁe was more than

D. The revenué expmwer i . R BAD

Choose the mnriect answer - _j@)/t(a‘il’d s ﬁ

D Adng L8 & (2018-21 ~NeW)
(3) B, C and D only ¢ sopdlso —2028 Heso, Euwmﬁ’ (Haes SpordS

Somos00 808 a-sm;ﬂf ;‘i ;ﬁg sapmaod. O

A Fndo $ga808 ©D0 (oo T 2% T &

&
B, S 550908 @ﬂ-ﬁéi; 2o § Grarabe 4 S8 S &od.
. Swe =

o
C. S0 &3P D5 g 350500 80% $00 D50 S0l

B i
D. Fnso 5§00 . i
i (2) KB, C:08acin D

588 HaroaRl 20 |
(1) A Z8csw B méﬁ;ﬁ) @) (%0050 D SrSD

bal
(8) B,C oo D "

(19)
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58. Which of the following statentétd $955 GA4CRI FRIGET to the cu;:pggizt;o_r; ;{t; expenditure i,
Telangana for 2024-95 as per the vote on account budget of Telangana for ‘

A. The estimated revenue expenditure is more than two lakh crore rupees.
B. The estimated capital expenditure is less than thirty thousand crore rupees.

Choose the correct answer -

(1) B only (2) Neither A nor B

(3) A only _ _ A4y Both A and B .

2024-25 SBeorrs 445 &S o¥od a@donsdo, 2024-25 & V0OHOD) Boornd’ piye Srd %
QooGOD 8od Tipied DA/SD %%;

¥ @ A0k B3ods )
B) AdmeSS 4) A 5805 B Bodr
57.  Which of the following statements i

A. This scheme was launched by

the Telangana Government in J
B. Women can travel in a]] state-run buses at free of cost,

(1) Bonly
(2) Neither A nor B o
M':r =
(4) Both A and B ®
Soomrgd NI'OY; Hiena QOO ﬁf} TiRieS Da/Hn a;é; ?
A S SRy S0 12E0es 10 22558 .ﬁgxi & Eréododos,
B 00 B85 20306 Sitrgen and BO8re0 Homsis,
B BErTRD) oSS 50 - T
(1) Bamesd :ﬁ
(2) A SoBain B Body 5%y
(8) Admed

(4) A8dm B Bockr

(1) With effect from July 2023, the am

(2) Toddy tappers were paid @ # 3,016 @ym 202027
It was introduced in 2014 in Karimnagar district,

(4) The amount was enhanced in 2{}20—\‘2 to ¥ 2,516 for beed; workers,

SO0ore 03068 ¢ esoe PPN ABTNE H

000D (806 B 15:5 o
(1) 28 2023 oA DS B DEerofherds ¢ 4,018 5 oy,

(2) 2020-21 06 Senhiss 26,500% ¢ 3,018 )0 IDor,
@) & SBTR) $60518 Bere* 20146 Do,
(4) 2020-21 &' DS Fwerd) HA w6800 ¢ 2,516 & 0.

S5 B 7

' (20) o
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5. As ﬁ:ﬂf&lﬂﬂgﬂnﬂ S?ma Economic Outlook-2023, Telangana’s own tax revenue as & percentage
(20 average) of its gross state domestic product (GSDP) was :
(1) Less than one-tenth of GSDP
(2) One-fifth of GSDP
(3)_One-fourth of GSDP
More than one-third of GSDP
Soomn FIrAS e Sup D|So- 2028 (HG0, Beooms e 7@ Siab eSS’ (GSDP) &S o
Hk) Tt TS0 (2018-21 Hikew) ;

(1) Gre ol BIoH ad)8S° 1710 S Sod S0 S0y

@ Yo o1R Th as )8 155 S0 O
@) O oL BU0H &SRS 1/4 8 S0k (&)
@) Yo OR T0H &8 BS" 13 3 Sos 0BTy
¢0.| The total principal + interest burden (within budget) of Telang
| per Telangana State Finances — White Papar,jlj‘énance Departmen
49y ¥ 10 thousand crores

(3) ¥ 13 thousand crores 4) ¥ 7 thousand erores
201415 & SBeorrs o3 Jwso eden + 3G oo FS She) oo (Beors TR AT
51680, DS Dariio, BLOME (HED 50 (25°00) :

2 71030 e

(1) 74305
4 ©730Y

(3) 713 Je Féw . ,
i i 's industry and service sectors
1 - o is/are correct with regard to Telanganas in whele
2 Eﬁ%ﬂfﬁ;gﬁ; Egtimates (as per Te]nng;%na Economy, Government of Telangana, Provision
Estimates, 2023) ? c;@ A
Assertion (A) : Industry and service sectors iy Telangana toge

ue added (at ¢ t prices).
- o ector nfipdustry} alone accounted for more than 10% of gross

ason . Manufacturing (a sub-s : ate
e ¥ state value added (at current p?}ws} in Telangana.

ana state in 2014-15 was around (as
t, Government of Telangana) :

f,.“l (1) T 4 thousand crores
— dsed

unted for around 80% of

o
answer . -1 s

Chwase 14 Gerec true, but (R) is not thé correct explanation of (A).
(1)Both (A) and (R) are ’ iy

: t (R) is true. o3 -
E En::*: (f:Jlse’ :I:RJ - re true and (R) is the correct explinalionatin.
an
s false. 15550), 2022-23 evemdf wodTeds

(4) (&) is true, but e o, 2023 wE 05 ®OLNT®

Boome IS, BOOTE, lﬁ.ﬁiééa “020000 808 FES’ IB/ID 2.8 ?

Soom H0Se HO ol DewS A0S (DS B80S Ir 80% HOFD SO D
e -]

e & ~
s a) : B0 ob. e
{ gore 5% jiﬁé oo DA (HBS So0S) & 10% K0 WRIT 28 SAird
OITED Y

5 D00,
$6e0 (R) : g;—‘ﬁg 0 a8 @HBoI0) éjoa S0
OGS DTG0 DOiEDN ! oS ® HOTDS D36 FE.

W

(1) (&) b (R) BOAT 23

»
(2) (4) 85y, R (R) z:a’;a.‘r-& | 5,005 A1 (R)SOS D3
) (4) S0 (R) BOST =

@ (4) 2y 5O B S (21) Ei

&]
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Arrange the ﬁ]lluwing in WmmlmaWom year of launchmgfsettmg up of Lhﬂe
schemes/academies in Telangana :

A. Amma Vodi Scheme

B. Scheme for Adolescent Girls

C. Tholi Mettu / First Step Scheme

D. Telangana Academy for Skill and Knowledge (TASK)

Ch the correct answer :
g”%iﬂmn (2) B,D,A,C 3) D,B,AC (4) A,D,C,B

oorad’ 808 Hdse/msdie BrE0Z0/)0°)e0 T oS )60 Berdor 3¢9 So|SSrdardon
@) 38 ;

A oy a8 dHGgo

-2

B. Tird 38 &) 2rOte §8% ko ?F_]
C. &9 Doep/3ncsed etk Hesko *
D. T2ye30 DB S0 TEK Berorres oS5 (TASK)

NS DAFEER) JoDE Faknd - =

(1) B,A,C,D (2) B,D,A,C ) D,B,AC (49 ADC,B

Arrange the following schemes implemented by the Telangana Government in chronological order ag
per their launching months angd years : "

A. Dharanj Portal W

B. Telangana Fiber Grid 2

E. TS-bPASS &

. Mahatma Jyotiba Phule Te] a Backw Classes Welfare sidential Educati
il Horot angan ard Re ti ducational

E. Women Entrepreneurs Huh

Choose the correct answer -

(1) By EA€B Af}/é B,.D.E,A (3 B,DECA (4) B/B.E.AC

SOOMD (DD 10 eSen TS (808 ddses TE |FrSoDodS TOW, DOoSS Yove |5 80

SOESFRIEOT ©505108 - O

A S5 S e

B. Soore 2abns

©
C. Eﬁﬂﬁﬁ}g“ﬁ (TS-bPASS) %
D. hdre; &5der I8 Beoromen BbEnAs S0N%0O H03 5 BABYEHS e 3
E. 33 adshmoe 25 58 . i
OB SIFEEY) AoDE oSy -

I
(1) D,E,A,C, B (2) C,B,D,EA ‘\% B, D,E,C A 4) D,B,E A C
Which of the following statements are true in{* e

elation to power sector in Tel . ”,
per Telangana Socio Economic Outlook — 2023x% angana in 2021-22 (as
A. The installed capacity of power in Tel

eighteen thousand m w
B. In the total installed capacity of power, the thermal e cgawatt (MW),

. . Was more than 509, . v

C. The nuclear energy installed capacity accounts for about 1% of total installed capacity of power
D. The per capita availability of power was more than three thousang kilowatt hours (k%]pnj
Choose the correct answer :

(1) A, B and C only (2) A B,CandD

(3) A and D only o . & B, C and D only

2021-22 505 oS Beoors DS dor 000D 808 & imierds S ¢
@08 Swpd(So - 2023 (H5E0) ? s 233) @oome urs

A Boornd DS FHS 010 QISP 3 QDA I DorrareSy (MW) &08,
B. 300 s e rgsods, $8;5 9 50% 508 S0y Srr &od,
C. &0 IS Prde Frssoes GEDDCN IS (sliclear energy) oe G50 T By 19 P 400
D. 80 doid o Hrdh Jo 8 e flotdey (kWh) 0t 2,
[ B

YT GOA,
ABS DT JONE Toknsy - -

(1) A, B 500 C Smesh 1@ A B C28c0D

(3) A B0k D Seéssd d) B, C 00k D ame

A

(2 #
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65.

7.

oOW1n b
Technology E g statementsvisfars 4paicsh cal) _
x Mo tllr;s;bled Services (IT/ITES) initiat; £ C81A8i3:- % Information Technology / Information
thorough the growth in dispersion (GRID "% &1 e Lonarpits

mpanies that expand ) policy, the government provides special incentives %0

B. The Government of Telan or set up their units within the western part of Hyderabad.
(ICT) Policy in 2021 to pena released its second Information and Communication Technology

provide various incentives to IT/ITES industry.

Choose the correct answer -
(1) B only ( : ) : -
i 2) Neither A nor B m«-""
SO v s nor B (3) Aonly Both A and B
i wg;f gdéﬂﬁi)é.sc Ty DAPDE oS / HIFTE FOIBES @O IO (ITATES)
o g W ekt e A gk ok
e O (GRID policy)  2pdoerd H3) podods dgood B
e @oB0oeTNE

B, SATES DOSOES/HITTE oSS © 5B
) oS hde HOEDH DG (FERT
BOOME (D400 TOAS HSPTS SHOCKY g;gams oiBEs (0T) D) 2021 & -
Q

Tod.
5B DEPTID), DOSHTDAD 5
(1) B Sredad (2) A B0 BBodr ) (8) A s @) ASOAWB Bodr
ents are true in relagign to tourism circuits in Telangana ?

Which of the following statem
A. Bogatha Waterfalls are a part of tribal circuit. ¢
B. Akka Mahadevi Caves are a part of heritage circuit.
C. Somasila Reservoir is a part of eco-tourism circuit.
D. Mallur is a part of green tourism circuit.

Choose the correct answer :
(1) B, C and D only 2 i ]]31:1003;11 }]r]
(3) Aand D only a
Eﬂonﬁé‘ Horges HTTOH (circuits) $020H008Fo0 a';aagué‘ Do) T
A BTé zoTsw AB2S (HBFO (circuit) 2827
B. @5 Hogren TORNSS \HEFHO (circuit) &' : ariio.
E: &HFd 3er3a0 K‘:G‘;;'Jésa—x)tj‘;bé (B3] o) {m@m} 2.8 griio
D Sewrh 50 wgmsead (DO (cireuit) © & Og0
5 SdraTOL 205 g @4, B, C 583 D
1) B,C S0aW D éﬁﬁj ()13 5605 € S
(3) A Sdci» D . tatements ;s/are true in reition to the share (%) of .st'.:condmy gaactnr in gross
Which :lf the ;?i]iﬂdw(mﬂgé ) of Telangand (as per Télangana Economy, Provisional Estimates — 2023,
state value & .
Government of 1 a;:;;?sectnr in GSVA of Telangana was less than 20% (at current prices) in
econ
gana (at current prices) in 2021-22 (first revised

=8 timates/:
022-23 (provisionsl S5CC . r in GSVA ol et pri 1
naary +g share in GSVA (at current prices) of Telangana in 2018-19.

f se :
B. The share o = ' . thani ;
32A only /@/J‘/lgnth Aand B

rre : sther A nor
Choose the c0 (2) Neith £ (920 50 95°50) BOOME TR0 Ty O

(1) B onl opren =~ 202 SO
)Bonly . <5, se195 S0 o0 WA () % %000600 (808 Fpied’ IO /J)

@wors & 5 O3
s (GSVA) OO » &
o3 WD Ferore TLagRowsy o o3 Jend HdoYS’ B8 dorio

Ze)) 7 ‘:"ﬂ'w}
D 23 & @08 et ST IO, U o ol
o Sayen) BOOEE TR0 3K PO TR Jens HB0Y BTNV

A 2022-23 s p s
ey 2{}%{ ﬂ{:'l'.:} & o,

O T 3 fo;?‘iﬂ ey, 2018-19 cg Beoomts 073) B AP Dewsd A0 (HNS S8
Sses & O 5;‘30‘.@&? o® SEopsraod.

& &g8a% 6010 % gk
K}Eéfﬁm‘wl ;:[}153? 2) A ;5350‘.‘&) Baﬂm Sy (3) ﬁ&ﬁJ'LéﬁJ (4) A 8a% B Bodky

(1) B Sread
; (23]

Ohes

]
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' i umber- of persons working in
: ie Tratlook L2629 ot°te total n ;
N 7 i ek zﬁcﬁwfﬁangm, the manufacturing sector has provided employment

around - Ur:'f' )
52%
(1) 36% (2) 58% ,‘sa/zé% x (4)

SOOTE FIrA% wdE AP S0-2023 |D5°80, BooreeS 2020-21 & FOFTNE SokosS HY 3:‘(:9,;51
A0 SHeS, S8 Bofio AT Jos TS0 HoAS & ¥030008 7

(1) 36% (2) 58% (3) 28% (4) 52%

69.  Arrange i i nding order on the basis of thej,
mtﬁbuﬁi&{éﬁlggZﬁcﬁgfdxsgﬁsm 2;122?;; {pﬁsinnal estimates) in Telangang
as per Telangana Economy, Provisional Es ates, 2023 of Government of Telangana :

A. Financial services

B. Public administratioy 3

C. Real estate, ownership of dwelling and Professional services

D. Trade, repairs, hotels ang restaurants

E. Transport, storage, communics

Choose the correct answer -
»AED,C (2) D,A

tion and gervices related to broadeasting

B. (2065 50ress @

C. 909, Ao armsrsgo SoBaiy SoBHSFS Bsexn

D. 38%0, sn8aineey, by 2B Eﬁu% Ty

E. Soer deog shmnin s S00am (Hres 320 Bdeyn

ODS BErETD) JobE Fasnu 3
(1) B,A,E,D, ¢ @ DABEC 2 ® oDEAR @ B,0,4D 5
70. ;“Tr?;i[c[]:_jjnf the following are flagship projects of Telangang Industria] T

nfrastructure Corporation

A, Apparel Weaving Park at Sireilla B.  Mega Fooq Park g

- . . t Buggapaduy
C. Sultanpur's Medical Devices Park D.  Industrig) Park at Zaheerabag
Choose the correct answer : P .

(1) C and D only @,@j/a,ﬂ,cmn

(3) A and B only

(] (4) JHL13|3'-a.1'u:11‘.1m’nlg,r

.%;o ERSATS R (TGIIC) &, \DES rBGoey, 7
OB ol 3¢ mym V8 ),

(508 365" D) Berorre IO FWE TO
A DB I odven FF arb,

C. eS8 Bds Hbsorer by, {} D. alrours 56 30 &6,
OB OSTFTEW) JoHE Fokwsy - &
(1) CB8a%o D smesady @ AB,CS00p
(3) A B B SmeSsH (4) A BB D a3,
]E (24) -
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| 1. Which of the follgw; .
| ’ size class of mudmﬁnﬁagﬂt;ﬂﬁed to size class of land holdings (acres) and the percentage ‘i'f:;{?];
Telangana State Statigticq) Ahmﬂd_h“'mss in Telangana in 201616 (as per the data providec!

A. Marginal holdings . Around 699 2022), are correctly matched ?

B. Small hnld:ingﬂ : Aro
C. Medium holdings : Areeog i

D. Large holdings ¢ Less than 1% "

Choose the correct pairs -
! )])'ﬂﬂandnun]y
(3) A B and-Eonti— (2) B andD only
Y (4) CandD only

BoOTR TN PEIS oBFE-2022 & =SAS Swodo o) 015-16 & BeornS
FrEHBO S5 Do) 200k Tnso HrEsmed L:a%‘oayﬁﬁaa.u 558 FEDE HODOHODS
$06 B$S" DD $8 2S$Tahu B ?

A GrOSShEmen  : nSrd 69%

B. D) Somren DA 24%

C. NGIOE0 Smren @ drdd 7% o8
D. 2@ Sdheren P 1% S0 8505 @)
D0 2 DoDE TAbosw :

(1) A, B 58050 D Sresdh <l @ BB DIFSH

(3) A, B 08ain C Srebah 29 (@) CHdainD ST
12, Cu:;lsidﬁr 2%3]Ii'lzn]]t:nwil:lg Assertion (A) ﬁ_d Reason (R) (as per

Outlook - : Y :
J : growth tate value added of culture sector in Telangana
O 50 :%ﬁvisiznﬁeadva;ca aaahglll?ate} was 16 percent. « -

Telangana Socio Economic

(at current prices) in 2022— Tl B esf agriculture sector in Telangana

. wth rate of
Reason (R) : ;I;ttue total %ﬂﬁm}rii 9021-97 (provisional estimate) was more than 9 percent.

correct answer : p ,
ﬁ?me 1;h{j:;x] and (R) are true, but (R) is not the correct explanation of (A).

i R} is true. ;

(3) B‘t}tllls [ﬁg ?ltI;: ai: true and (R) is the Pgrrecrt explanation of (A).

(4) (A) is true, but (R) is false. i ey (R) HBHB0HS
1680 — 2028 (HTEIP), 180D ¢pEden (A) SHBAD &° 3 (R) 3 :

(@oorre & mﬁ;ﬁf’;ﬁ;@g <055 mosT) 6 Boorad’ SEArab Sofio g e 1R

S DsTe (A) : en SoBO0y T (DS ﬁmﬁ“ ) S0 S9@ Tew 16 TSOT GOD,

4 192 & @eLO% wotdEFdeomre Sjdarad Sotlo Gingy PPe> o1 a Jenad HE0Y

S0 (R) : gﬁﬂigg ey 55065 ISP Btn 9 TS0 50%) &S OO,

3B HIPETTR), DONE & 860 LS.

:“;T ) 585 (R) DOGT 23 SO ) % (R) wq‘_a}aﬁ DE

@) (A) 330 SO RED) 4 (A) & (R) SO DS6e.

M @ @) $0aw ® B 292 g =
19 (4) (4) 2,5, S (R) ehad: S ascending order based on the contribution of agriculture sector (as

-

o ) I ] 3 o
Arrange the following YoUT ) "added (GSVA) of Telangana at current prices in each of the given

tate
percentage) to ﬁss S Gocio Economic LU ; ' _
Telangana & - ate) .. B. 2020-21(First Revised Estimate)
Years, as per Revised Estima © D. 2022-23 (Provisional Advance Estimate)
-~

A Second )
G B e ional Estimate)
Choose the correct HEHWEEZ'] A, B, C, D Eﬁb (3) BJ C,D, A o (4) A, C,B,D
(1) A, D. C, B o 0~ 9023 (S50, Lﬁof,:s‘ ROSSITOS 1K) 60 Berome e o
gﬁom‘a P e ?‘f@‘ ;355??053 Sofo J’?[’S"&O ) srSomr Lgi)ﬂj 'ﬁoé’éﬂﬂ‘ﬂﬂ] afirep Lﬁu&)ﬁf?

8 SoBoy (GS i
By : o) oy B 2020-21 ([oehed RS80DS o

) % 560D &5 D, 2022-23 )
4 015-20 rEodfa“’ w0 o (®DE S00WRY o)
o 2021-22 (mE Hoho : @ B
?i?‘i%ﬁrwm 08T o) 4,B.0OD . @ ACBD
,C,B

El (26) %ﬂ
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) f
Which of the following statements related to area under different crops as W@“ﬁ ﬂkﬂnsa S0y
: a Socio Economic Outlook~2023) 4y,
area (in Vanakalam 2021-29) in Telangana (as per Telangan
true ?
A. The area under paddy was more than 40%.
B. The area under cotton was more than 30%.
C. The area under maize was more than 8%.
D. The area under soyabean was less than 3%.
Choose the correct answer -
(1) B and C only 12) A,B,CandD
(3) A, C and D only k (4) A, Band D only
(B0 riray ey SR S0 — 2023 Hedo) Boornd (2021-22 TTTO0S) Qreonr ~Sarey
e DVGoS' DS Hoere $ods &) ddgo 7=rdE H02000D E08 T oS’ D 2y ?
A. 38 S0t 1808 &y DhS0 40% Loty 0T HOE.
B. 38 Hoty 1808 &%) 2080 30% S0t B0y Srr d(@ﬁ
C. IHRES) Hos 8o &) 280 8% S0t DEFHT GOE,
D. &air D%y Hody 150 &by DRYo 3% S0t éﬂ;,:m' 08,
NES DAY o Faknsw -
(1) B 5B C Smash (2)71A, B, C 805 D
@) A, CHBc D dMs (@)1 A, B 5868 D Smesadh
As per the All India rt on i “‘- - i i
il irn‘l-:;ﬁd mamgﬁaé Ee;:];g 2015-16, which of the following statements are
A. The gross irriga_bed area was around 19-59 lakh hectares,
B. Thegmaaumrngated area was more than the gross irrigated area.

C. The net irrigated area Was more than 75% of th irri
Irri B ETOSS irrigated
D. The net urigated area was more than the 1 e

88 unirri
/%menthﬂ corTect answer - gro Ef;lmrngatgd Sroe.
A, BandC only ]
(3) B,Cand D only {E}EEJA' Cand D only

2015-16 SgSarcsy B 1 2 M’J‘(_aﬂ and D only

& 00206003 ad woda a3
DRFTRE a'mzao?oi) B08 e’ D afyy? 0 5% Bwdo. 201516 &° Soorad” Wi
A SO 3 DYYo DArS 1959 oL e Berr &od.

B. room aihé’ 82 0580, dre 2 dugo oty
: ; N ) 5049 G506,
C. D55 7 Do, {res b Hoes' 75% Sos ST HoA,

D. S5 rth Do, resomr e w52 Do Lotrsy S
0, ™ &od.
DD DAFTRD) oD Tl : 3 o
(1) A B S8 C Sressh @) A, C 5000 D sra3
(3) B,Cu8cwD AT 4) BS8cwD NV RN
Which of the following statements is/are true in relati Ryth

on to i
A. Rythu Ha:ndhu (Investment Support) scheme W&k launched i: tnila;ilatll* -;ccﬁe;ue - Delatgang t
B. Under this scheme, initially an amount of E‘jﬁ}zﬂﬂt} per acre :
lands. ¢

Choose the correct answer: <]

(1) B only B?] Neither Anor B (3 A onl
BeomneS O 2060 HETHE HOR0BO od Fgmsers gtﬁﬁ)&'} "7 (4) Both A and B
A. Déb 2060 (Pt D) Hes¥o 2019 V038 ,8q6" [E0DoSadon,

B. & 3650 (Sods, (@rozios’ ey mw@ug;,; D8 8o, 11 0S80 ¥ 12,000 25560

26hod.
B DSTTTD) DotHEDS -
(1) B Sresad (2) ADBan BOOAr sy (3) A dmesadh

¥ |

(4) A 2005% B Bogy

7] .
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77. ;’6 which of the following Tejane. VW4 Sakshieducation.com s i

78.

79.

gana ﬂi-?tricta was the Crop Diversification Index Value mo0
( Economic Outlook - 2023) ?
2) Suryapet 3 ; 1
& 1800 Beomg (8) Vikarabad (4) Peddapa
EQ‘U@‘. 202122 & ggemj-é‘ 08 BD&g0 AP Dend oS &0d {Eﬂﬂ”ﬁg

raras eax SO S0 - 2023 25So) 7
(1) Sﬁfﬁ:ﬁg

(2) AroesheS @y, Dsorars 4) PO
In which of the following dicen ¥ R
2021-23 the hi@ﬁgtﬂ;qng districts was the total %Tm cultivated under paddy crop in Telangarn

21-22 (as per Telangang Socio

(1) 5“-:’31'-".3['- (23° Karimnagar
adadri Bhuvanagjri (4{:} Nizamabad
& 200 BF0d, 2021-22 & Beoms' 36 ol (goss @) o A Do D BES’ GOLT
00 7 e
L . o
(1) Aroryad 20 58056
(3) diror& Zos5n8 (4) Qerarard

Which of the following statements is/are true in relation to the agriculture and allied sectors in

Telangana (Telangana Economy, Government of Telangana, Provisional Estimates 2023) ?

A. Between 2021-22 and 2022-23, the agriculture and allied sectors achieved more than fifteen
percent year-on-year growth rate in their gross state value added (at current prices).

B. The gross state value added (at current pricegfgrowth rate of agriculture and allied sectors was
around 18% in 2021-22. ®

Choose the correct answer :
(1) B only (2) Neither A nor B fﬁﬂﬁ only ?/M/ Both Aand B
(5

Boornd” SiSTAh HOG B0l Sores sonodod (Sod o5’ DE/DD 2.5) (Beorre

WIS, SOOI |DZbeh 10, = dE wodiarey, 2(]%@3:5‘60} ?

A, 2021-22 S8 2022-23 K0Sy, SSAH HOGAM D00 Sorren 253K HoSSIOWE, o TR
Dend HB0HS (DS S5 HEID TEOGHD IH0xS SO FOOTOW.

B. 2021-22 & JgSrah SHO0 @20l SomreFire o Dend HO0D (508 Gdexds’) S8 Bew
rarch 18% m &od.

A0 DAFrRTA] SOTNERaw
(1) B Srésah (2) ASBCHDBDodrsd (8) Adressh 4) AdHain B Body

Which of the following statements is/are correct with regard to the Rythu Bima scheme that was

introduced in 2018 by the Telangana Government ?

A. The age group of farmers eligible to yﬂl undgfthe scheme is 21 years and above.

B. The insured amount is ¥ 5 lakhs. ®

C. The scheme 15 applicah]e to the farmers who hﬁe up to 10 acres ﬂfamﬁu]tma] o

Choose the correct answer : a {

(1) A and C only (2%S A and B only

s 32830 B D HE Bgoaﬂy

A & H5Eo (Bods ST THETIE ©Fs, &ﬁgﬁéﬂgﬂgv S09H%) 21 B0 af;};- f:; fgﬁ; 23 ?
2ad goard. W ©oe SOt

9\ S b P00 SO &Sy S8

C. 10 S650 SHPRrcld 1 ST DTSy

B ;&Sﬁruq;-l;-m Jo5E Satndn : & D6580 S8Woa.

) A b0k € Sriedad ) AD00k B Sre,

@ A B S8 C @) B Smes,

E' {27)
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: . i ion to Telangana’s

Wing Assertion (A) and Reason (R) in relation _ . l
Performance — C“mpnsite Index Score (as per Healthy States, Progressive India, Health Iﬂdej.;
Round-1V, 2019-2p, Prepared hy the NITL Aayog ) :

Assertion (A): By 2019_9

0, Telangana had improved its rank among larger states in relation
overall pe

Performance Composite Index Score compared with its overall performap,
MPosite Index Seore in 2018-19.
Reason (R): In 2019_

0, the overall performance Composite Index Score of Telangana v,
around 7¢. e

Choose the correct er - &)

(1) Both (A) and (R) are tru

e, but (R) ; . : : !
(2) (A s false, but (R) is tryg, - "ObtHe correct explanation of (A)
(3) Both (A) and (R) are tryq d (R s 41l ‘

(4) (A) is true, but, (R) 1, fa]a:n (R) is the b?pnm explanation of (A).
SOOME U0 o 32 &, DFD SO D 38, + .

(R) {2030 (A S Re0S8y RODOBONS (806 eDE8E (A) O S ey
2u1;2u @'}5‘50}{: e arrosons, *‘?ﬁiﬁ‘?é@fﬁ TP, ETYD s, estis Jord Tol -1,
PSR (A) :  2019-90 are3g,

Se0rre 2018-19 “
Wdo Bk, S O Inddo 58D MiFssr ard 7

el 1B O 38593¢%
. mﬁ}m:‘%}t 95008, U 0 6% NOROGOD DY oo &3 o508
=) : 2019-20 &&° ® v

0S5 DEFCTIR) Do Fasom RO IOE0 HIBE WED 1 Bens 878 70

(1) (A) 2805w (R) Bogsyr 239,

S (A) 8 (R) 6 3
@) (8) $3), 52 (R) 253, QS eSS 5.
(3) (A) 0BGD (R) B

(5]
OG> 2,3 ) SHOck (A) Ky ) DOTWS DS en.
@) (A ad), s ®R) 5y, (S Did Hicis

Match the following health indica

tors W"Itli;the value of eq
Telangana (as per Healthy State

8, Prograshive Lodie. . ch indicator in 2019_9¢ in relation to
) gressive Indi on th :
Territories, Health Index Round-1V, 2019-20, prepared by E1a'1:im:;cz~~rl'1'[ Aiﬁgf“  Sistes and Unor
Indicator ‘pzdimtor Value
A. Neonatal Mortality Rate (NMR) 2 96-3
B. Under-Five Mortality Rate [Uﬁhmw/li. 63:0
C. Maternal Mortality Rate (MMR) II1. 474
D. Institutional deliveries (%) IV. 30.0
V. 1949
Choose the correct answer :
(1) A-V; B-1V; C-II; D1 ‘125/&-\"’; B-III; C-I; D-11
(3) A-I; B-IV: C-II; D-11I ;

SO0rniy Ho080d Bod as8i; Srddes,
SAFS TS

s8S0S8 S oraren - T P38, o
DODOHONS T'5o
Ard§

00 0 DIAK &g SrFol - IV, 2019-20 |Hs+80) : Vo8 @omon
il ADE Dev.s

A S2r b Dderer Bew (NMR) o L 963
B. 2% HodSyo0e 000 0T S8y 51?;;;;3;@‘ OOV USMR) 11, g3
C. 2ra sdere Bén (MMR) 4 M. 474
D.  Dorted |Hdarexn (%) ey IV. 300

i V. 180

RABA DATETFED) HoDE b -

(1) A-V; B-IV; C-II; DI

(2) A-V; B-III; C-T; D-II
(3) A-I; B-IV; C-I1; D-III

4) AIV; B-IIL C-V; DI

( 28) ﬁ
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83. Which of the following sta . : 2
the National Family Haalttlfgit:yﬂa;e true in relation to the population of Telangana state 25 P

A. Populatio .

stnl:,e n above 15 years of age was around two-third of the total population of Telangana

B. i‘:;p;.latinn below 15 years of age was nearly one-fourth of the total population of Telangana

Choose the correct answer : BE

oo (2) Neither AndBB (3) Aonly (4) BothAandB
) 2add ¥

2805 Sot02 eBtis 5854 (5560, BEOMIONY 2rE $000600 §08 FwIOS /RN BV
A BoOr: o0 Suso o 15 H05S 5 §08 Moy SaHin) SONS 277 2/3 3

aror) . o
B. Booms ol Sudo amers 16 HoSptre S0t $50j Sahin) SONS BT Ity 14 S S0
arar) . &
9B HIPTER) JoDE Bk : %)
(1) B Sr(&d @) ASHBGnBEBErsdy (3 ASnSH @ A So0050 B E!-or:&.':
of Telangana state ‘

84. Which of the following statements is/are true in relation to the population
A. As per the Telangana State Statistical Abstract—2022, the population of Telangan
2031 would be more than five crores.
B. As per the population census 2011, during 2001-
population was less than fifty lakhs.

a in the year

2011, the absolute increase in Ta]n_nrg-ana gtate's

o

Choose the correct answer : -]
(1) B only (2) Neither A ngpP g} A;nly (4) BothAandB
s DO/ 2w ?

SO T1a 2T HoanodHod |od & . -

A @eors Ol AN 75| E-2022 %:o, 9031 & H0SS60S BOOTER Ty T © (3
£0T) QB0 ST BOENOA. 3 ol e A s

B 2011 e S5O (500, 2001-2011 sEod, Booms U1 ETE AEHE D 3 ok
2oy e%opSm Gob. - o

SRS BHSTTRTR) OS¢ i

s : (2) Abow B godr s (8) Admgd 4) A JBacin B Bodr

(1) B :ﬁ'Léﬁ) Famﬂy Hea]th Suﬂﬂ}"'ﬁr the pEI'EEnt-ﬂE‘E of women (between thﬂw FEHIS}

[ 85. | As per National I 1920 in Telangana was around :
\ who were literate in 20 (3) Three-fourth (4) Three-fifth

. (2) Four-fifth
(1;é ;wu;l;:nr;m et 5555 55760, 2019-20 &' Boomns” HIrPo (16 - 49 HOSSITO K55 SALIY
2 < :
oiora 50 QST :
- Eﬂﬁﬁﬂ;}dﬁ :i. § 3 45 S S0 3) /4SS0 (4) 3/6 S S0

. ):; A SD0P (- Sy Hoallh SHM_.,,,Ege Under-Five Mortality Rate (USMR) in urban areas in
[ 86. |Asper

Telangana was :

(1) Less than one-fifth )
{2} Mﬂ‘f& tha_n t,h,e mfant mﬂl'tahl-}" rﬂtﬂ' (IP'IIE..‘_ ﬂfTElﬂnEﬂna Stat.e asa Whﬂlﬂ

1 ﬂnﬂ-fouﬂh
(3) Nearly infant mortality rate {I@ of rural areas

Mmmmmﬁa‘ﬁ w5 (D60, BOMPRSR S &

oo Soenow @Ofs SASD LT B [omeod ) Nodsdyore (U

Sty SaH) FOO HOTO Bew: v Jo"® (USMR) S0t
(1) 16 & S0 g0 S5

() Besorre OO S0 3 Fb Jobare Bew (IMR) 0¥
(3) &pardor 14 S ok

(4) (PR Bromed'd b S0 8w (IMR) $08) )8y, 5

[r] (29) e
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87.  As per Census 2011, in which of the followin
more in rural areas than in areas ?

(1) Nalgonda Mahabubabad (3) Khammam (4) Adilabad

2011 2rgr ©50 1500, Boornd'd) 806 O 2ered s Ook AHYB HYL |romre ot g
oo JEupSm a0 ? _

(1) SFod 2) Sdrarerard @E D0

(4) aberard
Match the following classes of land with the. nt of standard holding in Telangana as per
Telangana Land Reforms (Ceiling on Ag‘ricultur%m

g districts in Telangana was the population sex ratis

oldings) Act, 1973 :
Class of Land (Per Annum)

Extent of Standard Holding (In Acres)
A. Double crop wet land (Class-A) E2 20

B. Wet land other than double crop (Class-C) T4 40
C. Wet land other than double crop (Class-H) m 10

D. Double crop wet land (Class-D) B 15
Choose the correct answer : AL

AOAIIL B G5 DAY (2) A-II; B-I; C-IV; D.III
{33] AL, BIV; (i-II; D-111 (4) A-III; B-II; C-I, D-IV
DO Ardo;Sme (SgSrch Edomre f0R JHOMA) 5 973 |&
SOHAY | Hrd Sheo AGost aéaﬁ:ﬁ}ﬁn::‘} RO Beored A
A SG18 (o5& om0 8) (Deireds sefo Do (o5
A Both Hoten Hod &8 ZHrdo (SdiKes-4) s A0 20

8. Dodh Sotsen 508 0w 6 2va, @SHRO) 11, 49
C
D

. Dok Hotyen VO FrsD a8 &Artn {éﬁﬁ@} L. 10

- B0t Sotien Sodf 86 2552 (5580 NI 15
- R

(1) AL B, L Doy T

3) A%; BAV; CI1; Doy o o B eav s

: ! @y AL BIL; C.L. D-
Cumm?er the following Assertion (A) and Rensun;%.] - Y

ava Committee g :

Reason (R) :

(2) (A) is false, but (R) is true. 15 10t the correct explanation of (A).
(3) Both (A) and (R) are true and (R) is the .
(4) (A)is true, but (R) is falge, ® Iﬁ\é} *Planation of (4),
(808 98B (A) By SOTIUR) HdDowod
fdﬁ" f.d T i o,
o s o8 19880 5t
2 5060 am}moﬁeaf; aaﬁ 00 Duiben e
5CB0 (R):  @exorre Dofvexn AN ®osa P8 S50 esd) & oyt of,
B SR oDE Fatusy - R AADWOSE0 BEHCA.
(1) (&) 500t ) Bodkr ) 5 () % ®) S6BE300 e,
(2) (A) &), 2R (R) 2.59).

(3) (A) So0ckv (R) Bodr 2.5 06 (4) 0 (R) SO D586,
(4) (A) 2,53, 5 (R) 3.

[R] (30)
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Arrange the following decades in ascending order based on decadal growth rate (%) of population of
Telangana :
A 2001 -2011 B. 1991 - 2001 C. 1981-1991 D. 1971-1981
Choose the correct answer :
(1) B,A,C,D (2) AC,BD (3) C,B,DA (4) A, BDC
SO 2aver L) $72 $90 Be (%) sEdor Sod STFod affirer (§508 @t )en !
A. 2001 -2011 B. 1991-2001 C. 1981-1991 D. 1971-1981
DB DIPTFRY, 0D TS |
(1) B,A,C,D (2 AC,BD 3) C,B,D,A (4) ABD,C
the total population of

Which of the following statements are true in relation to the age structure of
bstract — 2022) 7

Telangana (as per the Telangana State Statistical A
A. The population in the age group of 10 — 14 years was around 283 lakhs in the year 2021.
uld be around 25-4 lakhs.

B. The population in the age group of 20 — 24 years in the year 2026 wo
dﬁaﬂ in the year 2031 would be around 32-61 lakhs.

C. The population in the age group of 40 -
D. The population in the age group of 55 — 59'Years in the year 2036 would be 27-8 lakhs.
Choose the correct answer :
(1) A, B and C only \12} Aﬂgﬂzlly
d D onl o(4) B only
B o8 Tspsed 2 2D ([Be0OmE

B0 OlQ T aer T8y Sab) Erh)so HowoBow)
™M,

oD TERES oB5TE - 2022 |H580) ?

A 2021 5058506 10 - 14 S0SS O S SO marer Sirt: 288 ofeor 808,

B. 2026 H0Se)508' 20 - 24 505 TR SChHReH EORG ey Modrd 264 ©F e GoenoL).
Sche) SO BxreT 32-61 &5 e0IT SO0,

0. 2081 HOSSIBOS" 40 - 44 Hodeyore
55 — 59 Do T S XORS aarer 278 o enrr &otnod.

D. 2086 DO O

DB DR QO -

(1) A, BOain C Srehad 2 A SoBck C S
594) B&da»D SrSab

e and female population of

) C 50050 D Sr&0
o nts are tm@]in relation to the mal

i following stateme
Which of the O nguns Stats Stat.iatﬂal Abgtract —2022) ?
+he male population in the age group of 30 — 34 years was less than the female

s £ 30 — 34 yeals,
population mggtgi affef:ﬁ - pulation me age group of 80+ years was less than the female

B. In the year of 80+ years. {i
age group of 65 — 69 years would be more than the

ulation in the age group Pars.
C ;IJ:I;hE _-.reuar 2031, the female population
. jon i up - i
. ?}&Wpiagggﬁmmtzi:xﬂmﬁg of children (0-4 years} would be favourable.
. By the ye : .
Choose the answer : b

(4) A, CandD only

(1) A, B and C only
o amriy 2000600 (S0 Fipod’ 3D ) @oorn o

B and D only
O o i g0 SO 7S
eS| - 2022 s 468300 sﬁatgﬁagﬁu et
- 94 RO 2 B &
A 2016 50583508 35S acé?. TN SesE Sdbb e
sotrge> ey SOB SRLL e 50 My S P
B. 2021 .‘-305&535;@’&::!'#& ey S0 SERBT &0, VDO BTE, 80 doddyore Sod
- o
& 65— 69 DOSSITO ahiv)fe Dirde sy, 65 - 69

- 505600 :
C. 2031 HOD t_;’ Kot DEST Gonod. ¢} RO Yore) Sﬁoﬁamaﬁu

e 2TW 0— 4 5056 .
Sab0TEl s 51.9 © 90 A28 edHEreor SOLOA

2036 & 0 .
?)ﬁéﬂécﬁ?m‘aﬁ'ﬂl Joﬁéﬁa:cﬁum ;
(1 a,smﬁﬂ‘iﬂgyﬁg @ AD00w C gra,
(3 B 4B a0 D ST & = can o &Léfu

E' (31)
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www.sakshieducation.com .1al holdings in Telangana for the
Which of the following statements are true in relation to margl | okl
year 2010-11 7 o of total ho '
A. Tn Adilabad district, marginal holdings accounted for ﬂ:ﬁﬂi district was around F:SO%. .
B. The proportion of marginal holdings in total htnldeBi ding Hyderabad), the marginal huldmgs
C. With respect to more than half of the districts (excluding

constituted more than 50% of total holdings. ore than 60% of total holdings,
D. For Telangana as a whole, marginal holdings accounted for m
Choose the correct answer :
(1) B and C only

(2) A,B,C an:]f
(3) A, C and D onl AandDo 99 2,
2010-11 F’ocri-e‘.&.:nts'é T Boorad) aros €hmes Ho20500 §08 THIOS’ DD 2.9 ?
A Ol B¢, Fndo Smresds Goroes Savmren QG 50% M &aT) Ow.
B. a8 208, 3080 L0mOS @b Shmre ©mIS0 I 60% M G068, s
C. dffo 50T ¥ Bererty NODOBOD (Zréoerd darfonod)) 3o Edeeds aarods Sdhoarey
50% S0 %0y, S = T ATe WY &
D. Soomrs Jnso He, 080 S

o8 aro8i¥Hmen 60% S0t doy S G0,
DB DEPETRR) JoDE Tk, -
(1) B hdcin C Smess

(8) A C %005 D Sria

.

@ A B,C %00 D

&) A B0k D Srebdh
Arrange the following in ascending order based on the area under use as percentage of total
iengmphmal area of Telangana in 2013-14: <}
. Forest lang B Land put to non-agricultural
. Barren ang uncultivable lang 0. Currepultl fallow higt;l ik
Choose the correct answer :
(1) C,A,B,D (2) C,B,D, A @ ABCD
2018-14 &' Besorre GE) oo & DRFoS 1on 5 D.0 5
ga‘ﬁg}zgﬁ"m SSos EMJ;JDW ’-‘l"éf i RS e TER R
A ®& BHroy B ST a Brrres
B. o
t;:. Do DBy TS o) Briigo 59 20y ) La':f%'hé Do e;g:: e LIS
OO DSPErER) JoDE Bk : . 3
Which of the following statements are trye in : i
s lation :
domestic product (GSDP) (at constant pricesf-bf Tlglmt;atx?,: Structural cumpﬂsli.:mn of gross state
state ? {< prior to jtg fnrmatmu as Telangana
A. In the year 2000-01, the share of .
s agriculturesge,
g_ IIi e year 200809 (1. Bhars B e tor wag 1::? ei;ha:;nh 20 percent of Gspp, %
2, & 200304, the share of industrial sector in GSDp was more t; Vg
- Lhunng 200208 to 2009-10, the Services sectop share GS iy
Choose the correct answer 1 GSDP wag more than 50¢,
(1) B, C and D only @ A
and D only 0.Co
Soomrs oo

Eﬁéﬂﬂﬁﬂ?ﬁﬁ moﬁ:“ 5 ‘} A and D Dl:l.ly
O™ T8 % S8 )% Homo

QoD 808 & wged !
A. 200001 H056 18065 Yo oy S30ares \8
B. 200809 5056606 & :

° T 20 380 K63 6oy S 00
To oy Hgm&i@&'?ﬁ?&% 22% T 16 B0 &ody émi::rr &0d
D. 2002-03 &o& 2009-10 seroest Yo o ﬁFfﬁm.;;a w i)':' ﬂ;tr' 25 T80 Koy Doy &od
i ¢ . o0 e 50 3eso g0ty SN
R0 QTR DoDE Tk - )
(1) B, Cbckin D sSread 2) ASB08) ¢ 3y,
(8) €80k D Sresah @ A0 D smgy
R
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96. On the recommendation of whi i
S e :t:rllc'l?l of the following was the Linguist
(1) Both I:Iouses of the Parliament
(2) Standing Committee of the Parliament

ic Provinces (Commission (known

tﬂtﬂ? Reorganisation Committee
{;? Dm Unm:n.ittee of the Constituent Assembly
£ gnﬁoa ¢ B 2ardS @ eoroom, e Do Sviad (0 Kpas e ©0trd) & DoHMOBEC
(1) CDoens' Bodh Hsen
@) Sr&oen Fokol gnned "
@) T e DB S5O £oned o>
(@) Ot HOAS (Constituent Assembly) S&R s20es . o7
in relation to per capita mm“ﬁ_ﬂfﬁ?ﬁé% during the

Which of the following statements is/are t C
rrent prices has shown an 10

97.
A. The per caf_taa income of Telangana at:._‘h
period 200405 to 2013-14, 3 _ o 4 was moTe
B. The per capita ir:lul:m:nifi of Telang;ﬁn gt;constant prices (200405 prices) in 2013-14 W
than fifty-five thousan rupees.
Choose the correct answer : 2 WH A and B
(1) B only (2) Neither A n?ﬂ (3) Aonly
Seomrs SO0 o aSr8 H020H0D 8o T epied DO/ 2a) 7 NP o Dof F5:30
A 200405 0B 9013-14 G eosS (D Soed BOTE ©Hd BEo® .
3@'0‘5)3 GL’:". m@ﬂ QD
B. 2013*14:3‘ Seorn $odd aorobo P8 &6 (2004-05 sB0d) OB Dl IO
oy 00 —_— e
i?i m&%ﬁaa OS50 B AT S @) A%ﬁ i ;i;:w R B
i i in relation to an !

o T o s B S e o ot
oo e 08 el o e 87 e
B. For the year 2013-14 (provis! e ’ ]

s ; 9/{
S};a;ae :.'l];re correct answe:'é] s R {}B éi_.%; ;; ;ﬁ@ i ( th Aand B
0 - 3] £
Seomes 688 SIS n‘fﬁ";ﬁ@tgfgﬁ 04-05) WO T bcares @ (GSDP) 5@ B ARy
Sofio 1% 50D 8oy Haf Bewd STorcho

A 2013-14
B0l
2 OF BOETE J ¥ epoSATed) BT

2013-14
(il S ERED
5B HITTITL DOERFEIS A So00 B Boar sy @) A ST (4) A SO0t BOOAY
(1) B S district omestic product (at constant 2004-05 prices) for 'th&_ year 2012-13,
g9, Based on per districts in Telangan® was identified as one of the poorest districts ?
which of the following pr Rang&rﬂdd}' (3) Karimnagar (4) Nizamabad
(DMedak oq 5020000 (200405 oS S0Hd B Shaires )@ agrdor BOOMHS
~2012-18 ﬂﬂg‘ég o @98 DO Bed & #HBorseo 20M00 7
|foB BT 3 2 comdd® R @) 860806 @) Dersrard
e velopment Index (HDD Vs?:}e and rank of Telangana among the states in India in
(4) 0-45 and 13-

1 ectively -
reep o56and11 %/ (3) 062and3

] 9011-12 werﬁ!ﬂ (2)
b (1) 0-51 m‘gﬁéﬁ«ﬁoé‘?} olared Eﬂon‘E gy e ey

9011-12 &
SSEIT - () 06658a11 (3 0620008 (4) 045 0Bk 13

(1) 051 60850 10

E[ (33)
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: - . training module ?
101. Under the ‘Nai Roshni Schemd! 4iisf U KTRWIng S covered in the
A. Swachh Bharat

B. Life skills _
C. Financial literacy D. Old age pension
E. Health and hygiene

Chose the correct answer -
(1) B,Cand D only

(2) A,B,C,DandE
(3) A, B, C and E only {43, B and E only
‘Dow F1d He%o’ e WrarsS S, 8oa s 59 T doron ?
A DSy arsE B, ;;‘g%;m BHyegen
C. D% wEodgs D. Bagag Do
E. es8¥igo 18050 588256 <]
DS DIrTTRY AoDE Hektw - &
(1) B, C 605 D Smes) (2) V4, B, C, D 0050 E
(3) A, B, C %0050 E Srieshy 4) VA, B 58080 E Smed
102, Which of the following statements

Gender Social Norms Index (GSNT’
A. Tt quantifies biases against wo
B. It captures people’s attitudes

about the Unir@ Nations Development Programme’s (UNDP)
s) 2023 is/are correct ?

men and transgender persons.

On women’s roles along four key dimensions : political, educationa],
economic and physical integrity. '

Choose the correct answer :

(1) B only (2) Neither A nor B

(3) A only 3 Aand B

DEOTEg DA ©dH30 Hesso (UNDP) S3ws), Eﬁﬁ:

TIWIOS" HBIS DA/ 7

\1 5 Q20BIe Hrog (GSNI) 2023 bo, 8ot

(812068 B 5w B8 80a,
o oTBE dasoyries
DAFTSOD SO0, .

A 28 (Ve Hbasy SNyosSe

e
’%ﬂ T Sof Ford' rrees TEoD |Hzo
!

. !
(1) BSrmesh (2) &i DOAD B Boege a9
s (3) Asmad + @) A%8ain B Bodp
. &I:uﬂ?iﬂ_za Union Budget, the Proposed allocation foy Housing for All under py Awas Yojana was
(1) 48 thousand crores for 80 lakh houges
(2) T 28 thousand crores for 30 lakh hoyses 8
(8) %52 thousand crores for 60 lakh houges ;,ﬁ
(4) 36 thousand crores for 70 lalkh hoyge "’J
2022-23 To 1
;Dﬁ oi.'.fj:ijﬁ Lgdggg; émcg%?ﬁ i;“’ﬁ Tﬂ'?@ﬁ 650 (8o VOO Hen, (Housing for Al
(1) 48 Je §'%& Srarcten 80 O 2, T85 H
2) 28 3o & Sraraben 30 e 2¢) S65 b
(8) 52 B> £ draraben 60 of e a¢) F6% v

(4) 36 3o 8% Sraraben 70 o e %) 555

[R]
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104. Arr i
launa;fii ;]:e following schemes of Indian Government in chronological order on the basis of their
A. Beti Bachao, Beti Padhao (BBBP)
B. National Rural Livelihood Mission (NRLM)
C. PM Street Vendor's Atma Nirbhar Nidhi (PM SVANidhi)
D. Swachh Bharat Mission-Urban (SBM-17)
Choose the correct answer :
(1) D, A, B, C (2) C,D,A,B (3 B,D,A,C (4) B,A,C,D
2GS 19206 52 800 HETOD T3 (D00 BEEOMT SOESTDHRTSOM )b :
A esddoed 85 o, sddeed Hddot (BBBF)
B. 20809 (Mhoes A5G A& (NRLM) -
C. BI0 DB Tgrdve ey D5 DOPM SVANidhi)
D, 552058 MAS-H&6s (SBM-U) ¥

BB DATETETR), DODE O : o
(1) D,A,B,C (2) C,D,AB '3 B,DAC (4) B,ACD
105. Match the following Indian Government initiatives with their aims/objectives :

Programme I\ Objectives
A. Mission Indradhanush — ‘1. Assured minimum pension for senior citizens
B. eSanjeevani . JJ1. Conservation of water for the future
C. Pradhan Mantri Vaya Vandana Yojana , III. Universal immunization programme

IV. Providing sustainable drinking water

D. Mission Amrit Sarovar
V. To enable patient-to-doctor teleconsultation

Choose the correct answer :
(1) A-III, B-IV, C-1, D-V (2) A-IL B-V, C-I, D-II
(3) A-V, B-1, C-IV, D-1I ATV, BV, C-II, D-1II
(206 2r8eh |HEDSS sEgESTed a6l oFsen/ qﬁw.:é‘ 2GS :
Pololle e
A 2DAS RO I Saches §05 S SrdS 20D HeSarao
B. 2d0#50 I B gh0 Hed HodEw
C. DG Soole SHob S0 Birad L RIS & EE sy S0
D. DoAS ey HTS6 IV. SRS (&FD 5632 moBoddeo
v. & n—@cﬁasaﬁ Socdg BDEINVAS D ©odHoST 8
z JochEudm : i
E?iifyﬂcﬁf??’l D-V “(2) AJI,BV,CILDI
: (4) A-IV, B-V, C-IL, D-1IT

(3) A-V,B-, c-1v, D-11
can be classified into the following :

I'B'Gt Pﬂ\"&l‘t}r -
A. Absolute poverty B. Primary poverty
C. Relative poverty D. Secondary poverty
Choose the correct answer : <
/(,B{:ﬂd C only - 2) A ﬂnlé’ﬂ 1
(3) A, B,Cand D |4J B an only
%480 808 DGHOM 5658005T0) ! &
f aZiiﬁ wedso B DS DEoeso
O, DY HABEO ‘D AsBab (D06 DEoko
R’:;Q;?.ﬁ HETTTRL aazgf ot : - 'Ir:.zm B—
) A8 CEIE 1) B S8 D SMSH

3) A, B, C&bainD 2
: {35)
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167, Which of the following statements on Garib Kalyan Rojgar Abhiyaan (GKRA

A. It was launched in 2021.

B. Tt aims to provide 125 days of employment.

C. Tt focuses on Gulf migrant workers only.

D. It was launched in Bihar, Jharkhand, Madhya Pradesh, Odisha, Rajasthan and Uttar Pradeg,
states in the country.
Ch e correct answer :
B, C and D only ’

(2) B and D only -

(3) A, B and C only |

4) B and C only o]
t"gﬁ S5 TS ©DOSS (GKRA) § 5020501808 T5wsod 9D SBHI?
A =b2021 & Fréododadod.

B. 125 8re aardd $030080 & 4o, 4}.

C. 2B 55 J0D 01500 ) ST Soa DEN0O.

D. 530 THoS'D HF6, &rgol, DGy HBT, abar ToPS DOdy add WBF oFrod
Erdodowrd.

SDS DAPETTR) JoDE Dot :

(1) B, C sodcko D Srebsd

(2) B SnOCn D Srgdah

(3) A, B OG5 C STessh -

4) B &Bc C Srighzh E.a}

108. Which of the following statements regarding lﬁ'_i‘]me Minister Awas Yojana (PMAY)-Urban scheme

are correct ?

A. It is intended to provide housing for all in uﬁzau areas hy 2025.
B. Affordable Rental Housing Complexes {ﬁRHIGs] is a su

b-scheme under this scheme.
C. The scheme has made a mandatory pmwsmn

e 'fur the female head of the family to be the owner or
c 'U.l‘
/‘Pﬂc‘ﬁﬁe correct answer :
) B and C only (2) A Band(C
(3) A and B only

(4) A and C only
36705 SDOB e R-Threscs- - (PMAY-Urban) 5508 020

PO 808 arsmseres® Hn DBAD ?
IO @OB0S

C. & 580 8065, 5otn0D0S'D D2rer wAKS (=
DDOGBSD 653056 Fon. et

DIF-CHBIFDT GOTOR
BB DIFCTTD) o Fosy &
(1) B s08ain C Sressh ﬁzj A, B H8akn ¢
(3) A0k B e gt} A’é)ﬂﬂﬁn C res Sy
[r]
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109. Under Mahatma Gandhi Nati
used for the revision of wagearautgsa l'? Rural Employment Guarantee Act MNREGA), which index 12

(1) Consumer Price Index for Agricultural Labour (CPI-AL)
(2) Wholesale Price Index for Industrial Labour (WPI-IL)
(3) Consumer Price Index for Rural Labour (CPI-RL)
(4) Wholesale Price Index for Agricultural Labour (WPI-AL)
f%ﬁggﬁ@iéﬁ?mmm a6 F 960 (MNREGA) (8o & &rds I8 d808 L Fo%
(1) SsSarod [FRose S ddariTde &5y s (CPI-AL)
(@) OENE [FEe Sk &' Gdo %) (WPL-IL)
@) o Ffe FE5 DT GO #d) (CPI-RL)
(@) S3SOH (TR FEH S oo {78 (WPI-AL)
110. Which of the following are the salient fe?ﬁpiues of the
Government of India ? &
No licence is required for exports. ol
Manufacturing activities are allowed. :_
_ Licence is not necessary for imports. T |
_ SEZ units cannot give subcontracting. ::_

Special Economic Zones (SEZ) scheme of the

owp

D
E. Service sector activities are allowed. ..
Choose the correct answer : )
(1) A, C and D only (2) A,E,DandEnn.ly
(3) A,B,C,Dand E (4) B, C andE only :
0 vodere (SEZ) HBED AP OEETD 8 7

808 TES' 3rES DHES0 Sy DSBS &

A e SO JEnS0e3 BN B B,
B. &cird (manufacturing) SOy Eaire) @ ;aoﬁacﬁw.
. BhH&esH BS) @380 DD 1

- |
E

. HEgs &8 Soderad'd ardtD G SO[ATS 0 BIJTED.
%oy ol SO Eren 9 HBOTDETED.
58S DETETER), HONE ot : o
(1) A, C 5HBAN D SrSSD {4 @ ABD S8ckw E Sr{ghad
s (4) B,C 00 E Sr@D

(3) A,B,C,D O E Y
Which of the following statements with rj'agard to Multidimensional Pov

erty Index (MPI) is/are

111.
correct 7
lopment Report 9010 introduced this concept.

A. Human Deve
B. Education, health, communication and standard of living are its dimensions.
: £
Choose the correct ansWer: 8-
Both A and B @ (2 Bonly
#1 (4 Aonly

(3) Neither A nor B
oS HeOE HrdS (MPD & dowodpd 508 TS IO IJIO/D?
& D36% (HDR) 2010 & P9 (H3FDYod.

A ST e@der
5 s e, SSrgREas 00 A5 Hire ow, & STe
HBS DAL DonE DAk | b

w  (2) B3NS

(1) ASbainB Bodir
(3) A SB0sn BBoAT 5%

"]

4) Adressd

(37)
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www.sakshieducation.com gs
he following state
ased on the urbanization rate (%), as per Census 2011 data, arrange the g S in
descending order :

A, Karnataka

B. Kerala ¢, Maharashtra
D. Tamil Nadu E. Punjab
Choose the correct answer -
E
(1) A, c, D, B‘ E (2 D, B, C,AE 3 C,DAEB (M C, B:}g; ﬁ.:hﬁ
2011 22 T80 19580 Hee¥se Bew (%) smdorr. o2 oo ei8rer Ehod 855048
A Bomyeds B. 8¢ C. o
D. & E.  dozS
DS VTR, oY Tk ;
(1) A,C,D,B,E (2) D,B,C,AE @ CD,AEB 4) C,B,D,AE
113. According to Migration in India Report 2020-2021, wﬁi#h of the following statements is/are Correct ?
A. The All India migration rate was 28-9% for July 2020 — June 2021 with a 26-5% migration rate in
rural areas and 34-9% in urban areas, ]
B. In rural India, when compared to women, men recorded a higher rate of migration.
Choose the correct answer :
(1) B only (2) Nelther A nor B
(3) A only oth A and B
fﬁf{ii SIS ::;Km VIS 2020-2021 550, 8o® smseres Ha/Hn 3?
b 2D 2020 - &3 2021 7red8 Wo rssTHocs 25
z:ga%m s08ain Heyeg Eroered’ 3499 mg, =TT SN o
B. Urabe 2rdads sone BN |Hed OIS, e Tt s
; ) ) 0D SIPchy e
B S QAT oD Tt - =
M) Bng @ AD0atn BBogy 5
- (3) A rizLﬁ: @ K805 B Bogy
. Accordi € to the 2011 Census, the to ian rhe -
e P three Indian ¢ politan citjes i terms of urhan population
(1) Mumbai, Kolkata, Chennaj @) R, :
(3) Mumbai, Bengalury, Kolkatq } K?ﬁt:f m!m’ ngalury
2011 zarer DL (D560, Sy oo sarer o :mlég ;n_-:.m mgn kata
(1) swog, ¥65¢, 33, 2) s 5 Y B ,-f,di: Sicrex
3) S003, Borierdy, e @ oz ad Cr
Who formulated the National Rehabilitation and Resettleme - s
_ t P
(1) Land Resettlement Division of Department of Land y au::: el
Development * under the Ministry of Ryral
(2 Reforms Division of Department of Land and Watey
Development

(4) Rehabilitation Division of Department

280D HSTTH0 HOH PIT S0, 2007 &
(1) (eSSBS s 7o By 5 S5%e 25
(2) [TaDEFDSHE S00(Be § 72 TE) 257 HBGKY ed e 2
(3) (POErdIYE Do(@es T T 3 S5%e i Hodydee

(4)

Development

of La.'nd! Resources under ¢
Development <

hﬂ Mlnigt_ry of Rurﬂ}

QB Ardrotord [ S S880emy,

SINTSTR DzrHAn
DO 880 Doy,

FTA I
(PRDET DSy @ D086 s T2 OINE) 4 Sd¢ey HSorarsd Daridn

(38)
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L 16, ‘Har Medh Par Ped’ scheme was launched in the year :

(1) 2014-15 (2) 2018-19
(3) 2012-13 (4) 2016-17
5 B HB DB HBSV) (BrE0DoDS Mo 60

(1) 2014-16 52 (2 2018-19
(3) 2012-13 @ (4 2016-17

' i cted in 1995 ?
Which one of the following Acts :rElat.ed to qglrunmnnt A e
(1) The Noise Pollution Regulation Act &

(2) The Batteries Management Act o
(3) The Municipal Solid Waste Managemengict

(4 The National Environmental Tribunal A¢t

HoUSOETR8 402000 (808 » 34T 1995 S St ?
(1) ¥ SeAS (st BHO

@ ergeode QOITER 590

@) S0S DS SO D gaTea QO
@) 80D HTFHOD (3205596 BSRO

rs influen
Which of the following are the reasons oOF (ﬁcw

117.

5 s
¢ 0o rural to urban migration in India in
cing

compelled the people to

Tt e 2
; Eeam::the o dency to 100k f"g"h" ia fhedities j for better opportunities.
s Ve s b 1 L e e
C. Educated and :chmmﬂ?maﬂ Lttt people to migrate:
Egm}hfht;:;asrrimﬂ @) A,Bngdajiu;ly
(1) B and D only . ;}:é Sy OB SOV O soed S
#ﬁ%‘?ﬁ; wgﬁ o K55 B0 (e [TeiTead 368
4569 020K
Wﬂ;)g)fz:::;;;:j;; SETET DO DPETOI
 §U50 THe it

' W‘” S0 |Daen SO SO ITED.

F oo (2) A, B 008 C AP(esh
(4) A, B, CHGcaD

%

(39)
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.k their objectives :
119. Match the following Sustainable Development Goal numbers with
Sustainable Development Goal Number Objective "
F s T I. End poverty everywhere &
B, 5- II. Ensuring affordable -anfi clen: energy all.
C. 17 I11. Reduce inequality within and among countri
D. 10 :ﬁb\ﬂendﬂ equality and empéfement' of women
V. @nd hunger and malnutrition
Choose the correct answer :
(1) AIL; B-L; C-III; D-v M—H; B-III; C-I; D-IV
(8) A-T; B-V; C-I; DT M GAL; BIV; C-IT; D-III
508 VTSP ek 5 RODIOD ¢ oFsers 268y -
PO DSNP &8 50 Sogy oo L2
A 1 L 108 s Bt adRios
B. 5 IL  SOSDS (affordable) 38y D55 20¢GS0 eoss
®oarend' goseo
G 9 M. B¥o S'e HBaky Bee DG ®IIrS S8 SHotsero
% 29 IV Dofi Duirse $8080 2rer > BSGes
V. 650 H0a s S (malnutrig;
" . tion) &\
DS SIPCTD) AoHT oy - 0 Hinhen) Sohodéo
() AL BY; cp; py
@) AL Bv; oI pap @) @I BIIL; c.1; pay
(4) ﬂ'li B-IV; CII; g
120. Which of the following statements relateq ¢ Chip

A Ch_ipko movement is aimed at, protecting mkgﬁl?:;l::;nt I5/are true ?
B. This movement originated ip the Himaln;mn n ﬁflud: 5
Choose the correct answer - '81n 1973,
(1) B only oY
(2) Neither A nor B e
(@A only

oth A and B

RIS ISrErrd) JobE Ty g
(1) Bamessh ©
(2) AnBasw B Body 5% <]
(3) ASred x
() A%60% B Body &
121. In which year was the National Green Tribunal Ac - cted ?
(1) 2009 2) 2018 ,caf%?];a @ 2010
2rAGD B (20536 5620 ) H058)608" S0 ?

(1) 2009 (2) 2018 (3) 2008 4) 2010

'E (40)
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122. | I“ Et,ch tlle fﬂ].lu“fing Dﬂﬂﬁm ; ‘ : . |
Name af the Gﬂﬂ,@rﬂm ere he-lde .
H 3 &
LmtEd Nations Conference on the Human Ellv].mnmEHE S!ﬂﬂkl 1 119

B. Earth Summit, Rio-de-Janeiro L 1972
C. World Summit on Sustainable Development, Johannesburg I1L. 2015
D. United Nations Summit on Sustainﬂh@Develnpment IV. 2002
Choose the correct answer . ('J
(1) A-II; B-I; C-1II; D-IV o
(2) A-J; B-1I; C-III; D-IV z}
A-II; B-I; C-IV; D-III o
(4) A-IIL; B-IL C-L D-IV PP
& 800 HIrBrod 6 200 5038508 2368 HELHS :
Sulrddo DD Soade o
SPRS HogSSRoR DETTES Bopd parSdo, gEID L 1992
1, 1972

26 D85, aar-&-28
sdrado, symynaf HOL 2015
[=]

DS @DSHPR Ha0S Wl
D, D6 eDIE B DETES HS ;mug BarSso Iv. 2002
Yl HAFTENL JorHFaen :
(1) AL B-L; C-I1T; DIV
(2) AL B-I; C-I1; D-IV
(3) A-I; BT, CIV; D-11I
(4) A-IIT; B-IL; C-I; D-IV
Acts in
Afforestation Fu
Act \?*

QO =W >

PT% A

&
I;;]111111|:|rIf.'lgia::aatl order:
nd Act

- 123.) Arrange the following
/ A. The Compensatory

B. The wild Life (Protection)

ical Diversity Act

tion) Act ]‘“ﬁ'

@2 AGCBH D

o™

®
1) B. D, C,A /] @ D,BCA

58

Q

#

7

2

(1

w3

D HorssSoe (2 _
' 0.8 oS0 |

e 2) ACBD
(4) D,BCA

(41)
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i correct ?
124. Which of the following statements about the Forest Rights Act (FRA), 2006 is/are
A. The Act encompasses rights of self-cultivation and habitation.
B. The Act reduced the importance of Gram Sahl;.&

Chooge the correct answer : ®)
(1) B only {2\}:] Neither A nor B
_437A only (4), Both A and B

2y 5
O TBe> QO (FRA), 2006 | 5560 & (£08 TS DD 22) ?
=f
A & SHoS B IOHATH SHOAD DD e ﬂ:b@::ﬁﬁazf}‘w-
B. & S50 (e 25 Ghng)y (Broradgeses éﬁnﬂoﬂ,&;

ADA DSrTTR) H0DE Sokudn %
(1) BSresh (2) A DB B Godhr 559
(8) AXresTh (4) A SBako B Bodr

125. From World Inequality Report 2022' for India, which of the following statements igare

correct ?

A. The report presents that inequality of income in India has been increasing in the last foy
o~

decades.

B. The report suggests that inequality of wealth in India has been decreasing in the last few

decades, s
Choose the correct answer : =
(1) B only (2) Neither A nor B (3} A only Q&’ Both A and B
D0 @JIFSSe DIAE 2029° &F PESTHO OGS & 8o TEPIOS IO/ 2,33 ?
A & QIO D560 erosBios woray BISTISED e £ Saarenm DEHET Gy o,
B. & D308 11550 2688508 50580 wibirshen 1 R SPPenm SMhasary o,
OB SETEER) JoDE Fahos -
(1) B Smesh @) ADBAWBBOGrTS (3) A aressh

126. Which of the following statements is/are true as per Art

A. The government can impose ceiling on land holdings.
B. Right to property is only a legal right.

ni
Choose the correct answer : =
(1) B only (2) Neither AnorB ( A onl
¥ Bot
&T0e orersoios’'D ©&%6@o 300A (D550, (808 et Ha fD 235 ;,WJ!— BAndh

A IrEDBTODS (5510 109 H5MED DO
B, &0 %) 15060 B30 AT By S0 mﬁf&j
N8 SATEERY), JoDE Fosos - ol
95
(1) B Sreszh (2) A Boin B Bodr sy (3) A Smessh

127, Right to Fair Compensation and Transparency i
Resettlement Act was passed in the year :

(1) 2008 (2) 2018 (3) 2003 2013
ArREsem, HSoaso, TS HONE0 BBy TOEGES T o
dabadod ?

(1) 2008 (2) 2018 (3) 2003 4) 2013

[R] (42)
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icle 300A of Constitution of India ?

D0 D Boseygest &Y

i

o
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128. Which of the followi
ollowing statements are correct with regard to the Scheme for Providing Self-

Emalgymegt to Educated Unemployed Youth (SEEUY) ?
. e scheme was origi i i
EGS). riginally introduced in Maharashtra as Employment Guarantee Scheme
g. ::5 wa§ introduced by the Government of India in 1986.
k aim was to encoura th d
ventures in industry, sem%?:* ﬂ.\:l:-l3 h?:s?r?::zfi wosElod pili fo Wikt Rl
D. The educated youth should be in the age group of 18 — 35 years.

Choose the correct answer :
(1) C and D only (2) B, CandD only

(3) A and D only (4) A, Band C only
S5C0IB0N) DN oSS 5000 ara‘nﬁ Dyos HEo (SEEUY) gy Ao2odod 5ob Tipied

SRS DD ? .
A Znce HID i RS el s Besgo (BGS) r 13 Derdd.
B. 1986 &5 A ardds |Hghes 0 HEFod.
C. DESoMBS DSOS cinSeS SO, 2% $805 TErsed H3avo aTrd J050D Fobher
| Jar0EScs0 O G40, g
D. doridosnBd aindd 18 Sod 35 hﬁ Sacsg o).
HDS DATETRL Do T : 4
(1) CS0dsn D S| hed o (2) B, C&déaoinD Sreded
(3) A SnBain D Sr(edsh - @) A B SO C SMead
129. As per National Family Health Survey-5 (2019-21), arrange the following states in descending
order, in terms of neo-natal mortality rates :
A. Bihar _ B. Jharkhand
C. Madhya Pradesh a= D. Telangana
E. Uttar Pradesh (=)
(4) E,ABDC

130, Which of the

www.sakshieducation.com

Choose the correct answer : &
AcuBp ® AECGDSB
i Bey Soars & (Bo& Traledd

(1) E,A,C,B,D (2 : e

&b ﬁmaaé‘@aﬁg 5835 (2019-21], 19560 Somndh Fo DoDETS

B (E0S" @t 8w ! :

c. e BT e, AR

E. &S5 908 -

o ] m.] .

AWy i @) A CEBD @ A ECD,B (4) E,ABDC
developed by the National Sample Survey

(1) E, A, G, B,D
following con
Office (NSS0) in India ? 52
A. Usual status unemployment fcl) B. Curre
. Current weelkly stalus uucmplu_vman; _ D. Curre

cepts of une_mplayment are
nt monthly status unemployment
nt daily status anemployment

o Lhe? c ;}? ff"”“ : 57 (2) A, CandD only
{3; ::gﬂt-?andl} 8 ot B’Cﬂﬁml}}m S D
: ' o . , Bod MO0 TR D odlsy6 Jab

o s oD BB eDD (NSS0) 5T 55 T o 2w ?
?Jdiﬁi‘;g‘;ﬁﬁ ;mz‘ﬁﬁé - B, |Da0e gﬂé‘a‘% Fran ASE R
g. [:Jg} o s O neoEihed 43 D, S Bar o0 Fraw D A
T Rt g‘ﬁ”:“”‘” ' 3 A, C SO0 D SrSDH
;;; i,gi}i}%ft . @) B,C &8aw D S
(3) A,B,C

{43)
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131. Which of the following are thvg\:;vuvl\;:lfnun characteristics of developing co

; ity of capital
A. Low real per capita income ~ B. Scarcity
C. Low incid];nce :fi-pwe._.t}, D. High levels of unemployment
E. More income inequalities
Choose the correct answer :

(1) B, C and D only (20 AB,C,DandE
MB.DandEnnly (4) A,CandEo

808 3 ardstio So8 ehSyd Sothds) Brod &ol s ofaren D ?
A, 250 TRas dend agrcho B. Awreds §oeé

C. 50 D08 ardo (BB D. @68 Db shE Fronen

E. =05 aordh eddrdsey \

DS DI JoBE Fein ,

(1) B,C $60% D Sresdh @ A,B,C,D X8G5 E

(3 A,B,D 2005 E Srad @ A, C 50050 E Smesdh

132, 4 ®

e construction of ‘Human Development Index'?
doseph Stiglitz
ean Dréze

(1) Abhijit Banerjee (2)
_J&T’Mahhﬂub-UI-Haq (4)

Who among the following economists is involved En%
500 &8 I’ D358 Erss w50 arog

Erd¥o e’ Srendochsomry & 2
(1) odHas 335 (2) &% HAS :
8) RS- GeS.1E @) #5145
133. Which of the following social indicators f; 3
measuring economic development ? g uaeds e een usol by Hicks sk Streaton e
A Bducation B, Health @ ggpipe )
t w g
Choose the correct answer ; S au?nl = Elethiaty E. Water supply
(1) A, C and E only &
(2) 5B and D gy
B,C, ; o
:ma;g @é;;:dﬁ‘ia 806 B Sr e ( é;ﬁ" 3 Cand E only
@ SSiel)
{fﬁ.‘g;o;ﬁ'ﬂoa-m 1 P o0 SOSERS 808 3’ 342 arE,) ol
I3 B. w80 C. BHes s D
::;@é mi@aﬂl Jo% Ty - s E. Q6 50
A, C 280 E Sma
@ BSHdag,
3 D
5 LLA.B,G,DASJED‘SQ}E (4) A,B,Cﬁaéd::;m
: dchﬂuf tgng;i’];;.rmg two states were ranked at the top in I S
roduct in ~22 at current pri i t S of i ]
A-Sikkim B, D m;?t;;m FE%%MHE.} y sy % state dorestt
Choose the correct answer ; : ] Mt B Telangs
f . na
(1) B C only 2) Dand g onl
A and C only ) 4

(4) ,Jlﬂ and D only

& 1806 & Bodh ovaren, 2021-22 & |42
) QS e B8,
(867G 50568 )50 2011-12) &S0 &dy 9 7 [ ~HaoEnas, 06 ES O B9 ad _135
Wl i
irb. ﬁ]aiﬂ"ei

A 8o B. 46 C. fa
QB VST JODE Foksuy - E.
(1) B 080k C Smeéssh (2) D ROk E dvesd,
(8) ADB0in C Sriedah (4) A SBokn D S

[R] (44) o
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the year 2022 ?
A. India ranks 108" position in gender inequality index.
B. In terms of gender inequality index, India lags behind Bhutan, South Africa and China.
C. Female labour force participation rate in fhdia remains lower than Nepal.
D. Repmdutc;i;ed;eulth, empowerment and _j'ﬁflbuur market are the three dimensions of gender
Choose the correct answer :
(1) A, B and D only
(2) A, C and D only
(3) A, B and C only =
DS ?

(4) B, C and D only

ST @DIHE DIOHE 2023-24 155750, 2022 036830708 Soaodod (Sod spied 3D O
ADoK BRSNS ArdES' arBeaTiio 108 & TS0 aod.

B Ooff ®33rdeh Ardse |sdo, arsaiSio Brers, S8 o D5 O

arfar sy 0w Fard 55772 Be5S o
Dol 9SS Apgeres durdh Saren.

85. /Which of the i
‘ / following statements are correct as per the Human Development Report 202324 for

Bty Bar Brosamy 3hsad

Aol
C. ardSTHo G (R S 34

D. HSBe ) ediiso, oSO SHOck Las-mg:,‘gram @S5
DD DATTER), HODS SHaoein : f
(1) A, BSH0CH D S =

(2) A,CobainD SPSad
@) A, B SO € 3D

(4) B, Cs0daivD SrSab “
/ i&ﬂ As per the New Labour Code, which of the fallbwing statements related to the Occupational Safety,
"™ Health and Working Conditions Code 2020 i/are correct ?

Card’, an inter-state migrant

A. Under ‘One Nation — One Ration ; :
state he works and the remaining family members gel ration

worker gets ration facility in the
facility in the state where they

| health check-up of the workers.

reside.
B. It is mandatory for the employers t0 provide annua
Choose the correct answer : -
(1) B only (OX2) Neither Anor B
(3) A only ~{4) BothAand B
eddy 2,605 HO HoReen 6 2020 § JoOHODS 288

c& Db B (5560, SHPHOBS HGS
i!‘jﬂ);ﬁ)é‘ DB/DD ﬁgmm? o a‘e" 4 B &5 HoTE - o
. s w4 (800, @0 e SOID © R o R0’ BTAS HHTAD
A ‘ol THo— a8 e senom HEDS Sxmod o R0S’ BAS Ao SrohErd. 5
frocErc S0 &6 DR GHOSDS)  [ARSO esfis 5035 (health check-up)

B abasrden SDH)00m a0
Boword.

5D HAPTETRL St Bk :
(1) B M&ﬁ) (2 Anbcin B Sodr s
(8) A SrS (4) Abain B Bodr

EI‘ (45 ) ﬂ
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. forest cover ?
137. As per Forest Survey of India, which of the following are classes of fo

t
A, Very dense forest B. Open fﬂ::
C. Moderately dense forest D. Mangro
Ch th ct answer :
TBE é :::ireﬂ (2) Band D only ;
s . C and D only
(3) B and C only 47 A, pegeste
DB S8 ©H 200k (H550, (208 FBS" D Gd Do (forest cover) SR S8
A T HHTS ©dd B.  aerdol eada)
C. DGIVOmr ShDoM @ihd l_] Q0ch e9ch)
DD HAPEERY IO Fokosn : S
(1) A,B,C S8ckn D (2) BS8cin D Sressh
(3) B oOakn C Jressh ) A C 580D Sriebah

138. Which of the following statements is/are true ? £

A. National Mission for a Green India was launched in the vear 2012,
B. National Bamboo Mission was launched in 2012,
Choose the correct answer :

(1) Aonly (2) Neither AnorB (3) B only ) Both A and B
1806 arsmgeds DAHD 2y ? £

A TASE A5 H5 D (A5 m0Bciny 2012 5 s sol D 6oDom,

B. TS 2rozyr bamboo) S 2019 & @8cDomrds.

OB FEAPCFETD) DoDE Fokws -

(1) ASrieEd @ ADOADBIEESY (3) B s,

138, Which of the following statements are trge .
Pollution) Amendment Act, 2024 2 tﬁr&laﬁon AR Watee
A. This Act of Parliament received the assopt of.

B. This Act was enacted by the Parliament in fhe 7gth
C. This Act applies, in the first instance, to Delh; and
o) b Telangang sty
D. aﬁ:y person 'i?ho f&ﬂs to pay the peant.y imposed undery the p t&a only, ¢ :
ys of such imposition shall be punishable, 1ons of this At Within ninety
Choose the correct answer :

(1) B and D only

ﬁ A and D
(3) A, C and D only iy

C
‘) A,Band g

99,2024 % 50230
A 0D TS & YO D36 2024 TS TR Em@i;ﬂ 08 argayseyest

0
B. 3rOe8T3Y 165 feacboes 0568 15065 I odss & W) Tabeyo Ei?ﬁ?ﬁl
C: & SFD) T Ia™ A0 5068 Boombs/mires, IS I80530
D 8 5§08 Dohibs dpotsise W50, DSOTS e mBsm DBotsers oo 200,
D00 §0B Bare> 550, DD BN B R ey, ° BODS0E s masr

DI AIFETA) 0D Ty -

(1) BdOain D sSyesah (2) AdBain D SMesd
3) A, C0bafy D Sresh (4) A, B5Bckn C Sredh

4) A 8y B ooy
(Prevention and Control of

D 2.3y ?

[R] (46) o
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140. Which of the following are
sustainable development ?

Logisties infrastructure
Housing

Airports

Railways

Waterways

Choose the correct answer ;
(1) B, C and D only

(3) A, B and E only

HoaxEe>

@0 350 SO NSRS NSO o Do 18 38 8o, Sod T35 D

www.sakshieducation.com

recognized as engines under PM Gati Shakti for economic growth and
o

3
&
e i
pot
§r1
| ]
a1

£ 3

&

“ ¢ ABCDandE
(4) A, C,Dand E only

= moRSenr Hhiodadaromn ?

A, 2Rt STOF HAvaraire (logisties infrastructure)

B. #9ar5e)a (housing)

C. DIrarFcsren

D. D&gewn

E. & SorTren (waterways)

BB DSFETER), oD Tchndn |
(1) B, C 85w D Sredsd

(3) A, B S0dkw E Sred

As per NITI Aayog’s report o
following states ahuw_gd fastest

A. Uttar Pradesh
Rajasthan
Odisha
Madhya Pradesh
Bihar

Choose the correct answer .
- D and E only
(3) A, B, C and E only
ha esddrfi Gy

141.

SRR

n ‘mult:idimeé;nsinnal poverty in India fsinu::e 2 ;
decline in the number of multidimensional poor *

1 (20 AB,C,DDOCHE
qj; @) A,C,DS8a E Sresh
&)

005—2006", which of the

.:_"\-.

@

.- (2 B,CandDonly
% @ A B,DandE only

ey es T 2Ty DHSBE0 DSOS 2005-20068' D500, 500 olareds’ a2

508D DITVNAAD DS SHSOD T 7

& |HTT

oY

2lar

20655 10T3T

Hd

BB DTG JonE Tolnen :
(1) A, D S6c5 E S

(3) A, B, CobainE M&ﬁ)

5

A.

B.
C.
D.
E.

)

(2) B, C S0 D SmeH
4) A, B, D00 E Srebsdh

(47)
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142. Which of the following statements is/are correct about Millennium Development Goals (MDGs) ?

/

www.sakshieducation.com

A. MDGs have 8 development goals.

B. MDGs consist of 40 indicators.
Choose the correct answer :

-]
(1) B only : (2) Neither Anor B (8) Aonly ,m/ Both A and B

& 808 i, DOV ©HIHO ety mfaﬁsm 20200 HOTDSD DO/ 7

A. MDG o0 8 @3)P oF o O amryow.

oAt

B. MDG €0 40 ArdSerd 5O eamy an.
ABS DSFERTR) Jon¥ Tkt - i
(1) BSrgd (2) ADBc) BOodrsyy () ASrSh (4) A SBchy B Bodr

' 143,/ Arrange the following educational schemes of Ind&ﬁn Government in chronological order :

A PMe-VIDYA B. Skill India Mission
C. Unnat Bharat Abhiyan D. NIPUN Bharat Mission
Choose the correct answer :

(1) C,D,A, B (2) C,B,A,D (3) AB,D,C (4) A,C,B,D
508 2rdes (Db g3y ATF DHFTOD PO |ESrdrdo 8o, el

A DIO B3-S BE * Sayeag rted nas

C. o8& 2rd8 edairs D,@) 22 (NIPUN) a8 oS

OB DSrETR) oS8 Saivsy \ <]

(1) C,D,A, B (2) C,B,A,D [ﬁQ&B,D,C 4) ACB.D

144. Which of the following state i i jecti
ing ments regarding the @am objectives behind conducting Socio-Economic

[R]

and Caste Census 2011 are correct ?
: (=5 ] '
A. To enable ranking of households based on theimsocio-economie stat
. i us.
B. To make available authentic information on caste-wise population enumerati
atnon,

C. To make available authentic information regarding
Status of various castes and sections of population.

D. To make available authentic information on don{estic workers

Choose the correct answer : ‘

(1) A, B and C only (B A, Cand D ogg
only

(3) A, B and D only MCﬂndDml
' y

G "
A aires- e D8 emrdor Sumoaress o086l Soheso,
B. Sverer-avb marar fencsed [ErsSreBE T -ﬁm{‘rﬂﬁw BOLDZFEn S =Tolhle
0.

C. DG Hoeren B0 BT Derrey arliRs.
®ocharénes godeo. % %

D. figsr 56800 (RraredE HSrmreo @0 terns’ &0,

B DAL JOHE Tk :

(1) A, B 805 C &Smebad

(

(2) A, C B0 D desz
3) A, B 56050 D Srebsh (4) B, C 00w D Sy

(48)
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ich of the followi
,&hv elinial He u:'l:wg-ll'g[} 1!{"H-ll:ltliml development composite indices is not included in the Human
(1) Multidi P ) 2023/2024 of United Nations Development Pro ?

imensional Poverty Index (MPI) P gramme (UNDP)
(2) Planetary Pressures-adjusted H

uman D
(3) Gender Development Index (GDI) an Development Index (PHDI)
(4) Happiness Index (HI)
B0t DTSDABS SrSrHIYE iFH Lrdfed 0 ©S :
soeiabd ®3)d) g0 (UNDP) O3n§
S @DSO DSOS (HDR) 20232024 S FrocddacBE 7 Sigp 2o NS R
(1) HHOAADL DO HrO¥ (Multidimensional Poverty Index (MPT))
(@) [0 280-OGeren TS 375 DS ArS (Planetary Pressures-adjusted Human Development
Index (PHDD) &

-

3) off ©DIe KD (Gender Development Index (GDI)

(4) HoSa r§ (Happiness Index (HI)) :

Which of the following is/are correct with regaé to econo
4. Economic growth and economic developm{:h_t are not considered as identical conc
@P;emnomic growth and structural advancements.

mic growth and development ?
epts any longer.

B. Economic development is the summation
Choose the correct answer :
(1) Neither A nor B
th A and B

e30% 590 DB w308 Ho20H0
A 0% 3% Hodw afsDSHP B2 2,8
B. ef5dIHf o0 0¥ S9& SHO0IN b3
STa AEFERY Dot :

'\lm A SHSD

L
“%2) Aonly
(4) Bonly
Bon FBS DO/ ABIO/D?
BEDR) e H0neSoHBed.
cr;%e.;g S Ty Hososo.

(1) AdcinB BOGr §a) X
@) A Sbain B TodGr “4) B S
Which of the following are key dimensions [_}%maﬂ Development Index ?

A. Ability to lead a long and healthy life. w2
B Ability to achieve a decent standard of livifgz.
C. Ability to settle in high income areas such as urban centres.

D. Ability to acquire lknowledge.

Ch the correct answer .
yﬂ? .o(2) CandD only

and B only e
(3) A,B,Cand D {_-j:;:;{-ﬂ A, B and D only
800 3 SrSTDS@ A OISy S8 Gosen (B D ?

A BSDS SO0 ebisiid Anerd) Higae rdo.

B So00 ASS DHATED) Ar@oiie Ao,
0. ©bEamad roFBs SRR dored Bduth TSR0, e
H

D. &F® H50T0S D@0, A
HBS DIPETTRY JotE Sotnedn : e

(1) A b0t B &r&D (2) ©&bosn D aresh
t3) A,B,C SuBdin D (4) A, Bo8a D Srehah

{49)
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148. Which of the fﬂ].lnwing statements is/are correct ?
A- India h_&s t-hE ‘dE‘m

Best scientific and technical manpower in the world in 2024.
Choose the correct answer :
, th A and B
(1) B only (2) Neither A nor B ')3‘1 A only W80
Bod rgmied’ namHn RBIG/D ?

A 88830 D 5H0SyerSy, SR $OAY Srdd 480 aeyd HBcw DRAD T8 GV
lOIr TRy (demographic advantage) KO8 &oA
B. 2rdétiio 2024 &

DO 0876 TRGH SO 535S 1D £D8 608,
DS DIPTTRY, Ao Tkt

(1) B dmed (2)  A8cinB aom-féﬁ (8) A Syeb3h
149. Match the following phages o

(4) A vOain B Bodkyr
f growth rates nflﬂgfia's population with their respective periods :
Phase of growth rate of India’s population | Period
A. High growth with definite Signsof slowing dg¥m 1, 1901 _ 1991
B. Rapid high growth ST IL 1921- 1957
C. Stagnant Population ", M. 1951 - 1981
D. Steady growth byl IV. 1981 - 2011 .
Choosg the correct answer T
,(«rﬁziaw; B-I1T: CI; D1 A-IV; B.II: C-I; DI
(3) A-TII: B-IV; C-I. D1 (4) A-IV; B.1; C-II1; D11
TOSTE 2arar 0% Bew Bk, Eon S el QODOSS Teyerst BSIG 8w -
TS vz S0 Few o4 -5 oo
A DoSRoT DOIEDS Hodare, st (LTS 5‘.@ B¢ L 1907 1921
B WSosme 550 “t I 1921 _195¢
C. VRS 2oy y L. 1951 - 198y
D DO 598 N V. 1981_9g;;
DS DIPCTD) DOHE S 80s - L
(1) A-TV: B-IIT; C-I: D

@ Arv; Bl ¢
(3) AT B-1v: C-I; D11

: I, D
@) A1V, B C-IIT; p.qy
150. Which f the follow; te ts is/ wi
4 d.:a ?u € lollowing statemen are correct with regard to Human Dﬂvﬁlnpment o (HDI) of
A. India’s HDI value decreased in 2022 after AN increase in 92091
B. India was placed at 134 in HDI rank gut of 193 Countries in o0
Deviiceattns Report (HDR) e 5 2022 g Per 2023/24 Human
Choose the correct answer : @)
Q.lffﬁeth Aand B (2) Bonly
(3) Neither A nor B 4) A only
O Jrds BDIYO HrdE (HDI) % :boan@oﬁ Bo& TS DA K}Qm&ma.ﬁ;} 2
A TOETEY 50858 6590 $rOE Dens 2021 §78 e 468 2029 S'afoa,
B. 2023/24 Sy8% rz&i}:),}@ B8 (HDR) @9&03}-_‘.}(122&3‘ 193 Saeyest Ol T o HDI D 5080 134
VoS dod, 4
B QTR IO TaSosn :
(1) A 2605 B Body @ Bamed
(3) A SO0 B Bodr &% @ Asn&d
=1 (60)
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